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9. If there is any sort of mistake either of Printing or of factual nature, then out of English and Hindi Versions of the
questions, the English Version will be treated as standard.

10. You should not remove or tear off any sheet from the Question Booklet. You are not allowed to take this
Question Booklet and the Answer Sheet out of the Examination Hall during the examination. After the
examination has concluded, you must hand over your Answer Sheet to the Invigilator. Thereafter, you are
permitted to take away the Question Booklet with you.

11. Failure to comply with any of the above instructions will render you liable to such action or penalty as the
Commission may decide at their discretion.
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Candidate’s Roll Number

Question Booklet

LANGUAGE, GENERAL STUDIES AND BOTANY
Time Allowed : 2:30 Hours Maximum Marks : 150

13/HV/M-2024-16

Read the following instructions carefully before you begin to answer the questions.

E Se
ri

al
  N

o.

Booklet Series

Ü¶mZ X| :Ü¶mZ X| :Ü¶mZ X| :Ü¶mZ X| :Ü¶mZ X| : AZwXoem| H$m {hÝXr ê$nmÝVa Bg nwpñVH$m Ho$ ApÝV‘ n¥ð> na N>nm h¡&516



213/HV/M-2024-16/HS-516-E

Directions (Q. Nos. E-1 to E-5) Read the
passage given below and answer the questions
that follow :

Kerala is just the place for you if you love
variety. There is something here to please everyone.
You are sure to fall in love with the serene beauty of
Kerala's magical backwaters. When you have
experienced that, you can sample the excitement of
Kerala's bustling cities or retreat into the villages to
see at first-hand how time can stand still. Better still,
take a trip to the spice gardens in the hills, to inhale
the fragrance of fresh cardamoms if that makes your
tastebuds tingle and fills you with dreams of food,
you need not worry. Kerala's cuisine is known for
its spicy hot flavours. The coconut and the spices
give the food - especially the seafood a pungency
that is enhanced by tamarind. Your meal would be
incomplete without appam, rasam, fish curry and
some delicious payasam. To wash it down, sip the
naturally refreshing water of a tender coconut. And
when you had your fill, move into the markets to
shop for gold, handicrafts, spices, cashew nuts and
coffee. Bargain-hunters will never have a problem
since English is spoken and understood everywhere
in Kerala.
E-1. Why is Kerala just the place for you if you

love variety ?
(A) There is something here to please

everyone
(B) Kerala has magical backwaters
(C) Kerala is very boring
(D) More than one of the above
(E) None of the above

E-2. Why should you take a trip to the spice
gardens in the hills ?
(A) To count the spices that are grown

there
(B) To buy some spices
(C) To inhale the fragrance of fresh

cardamoms
(D) More than one of the above
(E) None of the above

E-3. What is Kerala's cuisine known for ?
(A) For its bad taste
(B) For being bland
(C) For its spicy hot flavours
(D) More than one of the above
(E) None of the above

E-4. What gives sea food its pungency?
(A) Coconut and spices
(B) Coconut & spices enhanced by

tamarind
(C) Addition of cocacola
(D) More than one of the above
(E) None of the above

E-5. Why would foreign bargain-hunter visitors
never face a problem in Kerala ?
(A) Many foreign languages are spoken

in Kerala
(B) Hindi is the language of

communication in the cities of kerala.
(C) English is spoken and understood

everywhere in Kerala.
(D) More than one of the above
(E) None of the above

Directions (Q. Nos. E-6 to E-7) : Fill in the blanks
with suitable articles like 'a' , 'an', and 'the':
E-6. If you reach _____ Airport on time, you will

catch the flight.
(A) a
(B) an
(C) the
(D) More than one of the above
(E) None of the above

E-7. You should go for ____ early morning walk.
(A) the
(B) a
(C) an
(D) More than one of the above
(E) None of the above

E-8. If 30th April is Tuesday, what day of the
week would be 10th May?
(A) Monday
(B) Thursday
(C) Saturday
(D) More than one of the above
(E) None of the above

PART - I
(English Language)
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(Hindi Language)

{ZåZ{b{IV An{R>V JÚm§e Ho$ AmYma na àíZ g§§. H-9
go H-14 VH$ Ho$ àíZm| Ho$ CÎma {X¶o Om¶| &

aVZ Am¡a AO¶ EH$ hr ñHy$b Ho$ N>mÌ Wo & aVZ Jar~ Wm Am¡a
AO¶ YZr & aVZ Jar~ hmoH$a ^r nT>Zo ‘| VoO Wm & g^r {ejH$
CgHo$ ì¶dhma go àgÞ ahVo Wo & BgHo$ {dnarV AO¶ ~hþV ZQ>IQ>
Wm & nT>Zo Ho$ ~Xbo IobZo-Hy$XZo Am¡a ~X‘mer ‘| A{YH$ ‘Z
bJmVm Wm & aVZ Am¡a AO¶ {Xbr XmoñV Wo & Bg{bE aVZ AO¶
H$mo AÀN>m N>mÌ ~ZZo Ho$ {bE gbmh XoVm Wm & AO¶ {ejH$m| H$s
~mV Zht ‘mZVm Wm & EH$ ~ma aVZ go ZmamO hmoH$a AO¶ ̂ mJ ahm
Wm & aVZ Zo Xm¡‹S>H$a AO¶ H$mo amoH$Zm Mmhm & BVZo hr ‘| EH$ ‘moQ>a
Ho$ ZrMo dh {Ja J¶m &

H-9. aVZ Zo Xm¡‹S>H$a AO¶ H$mo ³¶m| amoH$Zm Mmhm ?

(A) aVZ AO¶ go ß¶ma H$aVm Wm

(B) aVZ Am¡a AO¶ EH$ hr ñHy$b ‘| nT>Vo Wo

(C) EH$ ~ma aVZ go ZmamO hmoH$a AO¶ ̂ mJ ahm Wm

(D) Cn¶w©³V ‘| go EH$ go A{YH$

(E) Cn`w©ŠV _| go H$moB© Zht

H-10. aVZ AO¶ H$mo AÀN>m N>mÌ ~ZZo Ho$ {bE ³¶m| gbmh XoVm
Wm ?

(A) {Xbr XmoñV hmoZo Ho$ H$maU

(B) EH$ ñHy$b ‘| n‹T>Zo Ho$ H$maU

(C) ^mB© hmoZo Ho$ H$maU

(D) Cn¶w©³V ‘| go EH$ go A{YH$

(E) Cn`w©ŠV _| go H$moB© Zht

H-11. aVZ H¡$gm N>mÌ Wm ?

(A) Jar~

(B) nT>Zo ‘| VoO

(C) g‘PXma

(D) Cn¶w©³V ‘| go EH$ go A{YH$

(E) Cn`w©ŠV _| go H$moB© Zht

H-12. aVZ Am¡a AO¶ Amng ‘| ³¶m Wo ?

(A) XmoñV

(B) {Xbr XmoñV

(C) ^mB©

(D) Cn¶w©³V ‘| go EH$ go A{YH$

(E) Cn`w©ŠV _| go H$moB© Zht

H-13. g^r [ejH$ aVZ go ³¶mo àgÞ ahVo Wo ?

(A) aVZ H$s {ZY©ZVm Ho$ H$maU

(B) aVZ Ho$ n[al‘r hmoZo H$maU

(C) aVZ Ho$ ì¶dhma Ho$ H$maU

(D) Cn¶w©³V ‘| go EH$ go A{YH$

(E) Cn`w©ŠV _| go H$moB© Zht

H-14. AO¶ {H$g H$m‘ ‘| A{YH$ ‘Z bJmVm Wm ?

(A) PJS>Zo ‘|

(B) nT>Zo ‘|

(C) Xm¡S>Zo ‘o

(D) Cn¶w©³V ‘| go EH$ go A{YH$

(E) Cn`w©ŠV _| go H$moB© Zht
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{ZåZ{b{IV An{R>V JÚm§e Ho$ AmYma na àíZ g§§. H-15
go H-20 VH$ Ho$ àíZm| Ho$ CÎma {X¶o Om¶| &

{edmOr ̂ maV Ho$ ‘hmZ² dram| _| go EH$ Wo & CZH$m CÔoí¶ ‘hmamUm
àVmn Ho$ CÔoí¶ go ^r Cƒ Wm & do AnZo H$m¶m] ‘| g’$b aho & do
Ho$db dra hr Zht, ~pëH$ EH$ AÀN>o amOZr{Vk ̂ r Wo & CÝhm|Zo bmoJm|
‘| EH$ amï´> H$s ̂ mdZm ̂ a Xr Am¡a ‘amR>m amÁ¶ H$s ñWmnZm H$s & do
H$Å>a {hÝXþ Wo Vmo ̂ r Xygao Ho$ Y‘© Am¡a g§ñH¥${V H$m AmXa H$aVo Wo &
CZHo$ AÀN>o JwUm| Ho$ H$maU g^r bmoJ CZH$m AmXa H$aVo Wo & h‘
bmoJm| H$mo CZHo$ OrdZ go {ejm boZr Mm{hE &

H-15. {edmOr dra hmoZo Ho$ gmW Am¡a ³¶m Wo ?

(A) EH$ AÀN>o amOZr{Vk

(B) loð> {dMmaH$

(C) Hw$eb g‘«mQ>

(D) Cn`w©ŠV ‘| go EH$ go A{YH$

(E) Cn`w©ŠV _| go H$moB© Zht

H-16. {edmOr Zo bmoJm| ‘| H$m¡Z gr ̂ mdZm ̂ a Xr ?

(A) {hÝXþËd H$s

(B) EH$ amï´> H$s

(C) draVm H$s

(D) Cn`w©ŠV ‘| go EH$ go A{YH$

(E) Cn`w©ŠV _| go H$moB© Zht

H-17. {edmOr H$m¡Z Wo ?

(A) ^maV H$m namH«$‘r ¶§moÕm

(B) ^maV Ho$ ‘hmZ² dram| ‘| go EH$

(C) ^maV H$m ‘hmZ² g‘«mQ²>

(D) Cn`w©ŠV ‘| go EH$ go A{YH$

(E) Cn`w©ŠV _| go H$moB© Zht

H-18. bmoJ {edmOr H$m AmXa ³¶m| H$aVo Wo ?

(A) CZH$s draVm Ho$ H$maU

(B) H$Å>a {hÝXÿ hmoZo Ho$ H$maU

(C) CZHo$ AÀN>o JwUm| Ho$ H$maU

(D) Cn`w©ŠV ‘| go EH$ go A{YH$

(E) Cn`w©ŠV _| go H$moB© Zht

H-19. BZ‘| "amOZr{Vk' eãX H$m AW© h¡ -

(A) dh Zr{V {Oggo amÁ¶ H$m g§MmbZ hmoVm h¡

(B) dh Zr{V {Oggo emgZ H$m g§MmbZ hmoVm h¡

(C) amOZr{V go gå~pÝYV Zr{V

(D) Cn`w©ŠV ‘| go EH$ go A{YH$

(E) Cn`w©ŠV _| go H$moB© Zht

H-20. BZ‘| An{R>V JÚm§e H$m erf©H$ h¡ -

(A) {edmOr H$s amḯ>r¶ MoVZm

(B) {edmOr H$m OrdZ

(C) {edmOr H$m namH«$‘

(D) Cn`w©ŠV ‘| go EH$ go A{YH$

(E) Cn`w©ŠV _| go H$moB© Zht

H-21. BZ‘| ì¶{º$dmMH$ g§km h¡ -

(A) ZXr

(B) J§Jm

(C) ~«åhnwÌ

(D) Cn`w©ŠV ‘| go EH$ go A{YH$

(E) Cn`w©ŠV _| go H$moB© Zht

H-22. BZ‘| CÎm‘nwéf gd©Zm‘ h¡ -

(A) ‘¢

(B) Vy

(C) dh

(D) Cn`w©ŠV ‘| go EH$ go A{YH$

(E) Cn`w©ŠV _| go H$moB© Zht
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H-23. "XþH$mZ na H$moB© Zht Wm &' dm³¶ ‘| {H$g H$maH$ H$m {M•
à¶wº$ hþAm h¡ ?

(A) AnmXmZH$maH$

(B) gå~ÝYH$maH$

(C) A{YH$aU H$maH$

(D) Cn¶w©³V ‘| go EH$ go A{YH$

(E) Cn`w©ŠV _| go H$moB© Zht

H-24. BZ‘| VËg‘ eãX h¡ -

(A) ~ƒm

(B) nwîn

(C) Mm¡Xh

(D) Cn¶w©³V ‘| go EH$ go A{YH$

(E) Cn`w©ŠV _| go H$moB© Zht

H-25. BZ‘| ewÕ eãX h¡ -

(A) {ZanamYr

(B) à‘m{UH$

(C) ‘hËd

(D) Cn¶w©³V ‘| go EH$ go A{YH$

(E) Cn`w©ŠV _| go H$moB© Zht

H-26. BZ‘| "CËH¥$ï>' eãX H$m {dnarVmW©H$ eãX h¡ -

(A) {ZH¥$ï>

(B) AY‘

(C) ZrM

(D) Cn¶w©³V ‘| go EH$ go A{YH$

(E) Cn`w©ŠV _| go H$moB© Zht

H-27. BZ‘| ewÕ dm³¶ h¡ -

(A) {H$gr ̂ r AmX‘r H$mo ̂ oO Xmo

(B) h‘ Vmo Adí¶ Om¶|Jo

(C) ¶h H${dVm AZoH$ ̂ md àH$Q> H$aVr h¡

(D) Cn¶w©³V ‘| go EH$ go A{YH$

(E) Cn`w©ŠV _| go H$moB© Zht

H-28. BZ‘| "Ob' eãX H$m n¶m©¶dmMr eãX h¡ -

(A) OrdZ

(B) A‘¥V

(C) nmZr

(D) Cn¶w©³V ‘| go EH$ go A{YH$

(E) Cn`w©ŠV _| go H$moB© Zht

H-29. "Ohm± bmoJm| H$m {‘bZ hmo' dm³¶IÊS> Ho$ {bE EH$
eãX h¡ -

(A) ‘obm

(B) gå‘obZ

(C) ‘ob

(D) Cn¶w©³V ‘| go EH$ go A{YH$

(E) Cn`w©ŠV _| go H$moB© Zht

H-30. "IQ>mB© ‘| n‹S>Zm' ‘whmdao H$m AW© h¡ -

(A) P‘obo ‘| n‹S>Zm

(B) M¡Z {‘bZm

(C) {d¿Z AmZm

(D) Cn¶w©³V ‘| go EH$ go A{YH$

(E) Cn`w©ŠV _| go H$moB© Zht
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

 .U-9

 (A)

 (B)

 (C)

 (D)

 (E)

 .U-10
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 (E)
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








 .U-15

 (A)

 (B)

 (C)

 (D)

 (E)

 .U-16


 (A)

 (B)

 (C)

 (D)

 (E)

 .U-17

 (A)

 (B)

 (C)

 (D)

 (E)


 .U-18

 (A)

 (B)

 (C)

 (D)

 (E)

 .U-19


 (A)

 (B)

 (C)

 (D)

 (E)

 .U-20

 (A)

 (B)

 (C)

 (D)

 (E)

 .U-21

 (A)

 (B)

 (C)

 (D)

 (E)
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" "  '  .U-22


 (A)

 (B)

 (C)

 (D)

 (E)

 .U-23


 (A)

 (B)

 (C)

 (D)

 (E)

 .U-24

 (A)

 (B)

 (C)

 (D)

 (E)

 .U-25

 (A)

 (B)

 (C)

 (D)

 (E)

 ""  .U-26

 (A)

 (B)

 (C)

 (D)

 (E)

 " "  .U-27

 (A)

 (B)

 (C)

 (D)

 (E)

 "  " .U-28

 (A)

 (B)

 (C)

 (D)

 (E)

 .U-29

 (A)

 (B)


 (C)

 (D)

 (E)

 ""  .U-30

 (A)

 (B)

 (C)

 (D)

 (E)
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(Bengali Language)

²ÌÙÀôy¡y ŒB-9 öíöì†þ B-14Š

îûy™yîûy”#îû ôy•þy þ›íÄ †þ!îûöì¡l îöìØþ– !†þv ö¤ öîûyˆ
¥¥zöì•þ ô%!_« þ›yGëûy– •þ„y¥yîû x˜,öìÜT !Sé¡ lyÐ !•þ!l x!•þ¢ëû ™l#
!Séöì¡l– ~‡l x!•þ ˜%/!‡l# ¥¥zëûy!Séöì¡l– ~¥z ¢yîû#!îû†þ ~î‚
ôyl!¤†þ !m!î™ †þÜT– •þ„y¥yîû ¤¥Ä ¥¥z¡ lyÐ öîûyˆ e«öìô î,!m* þ›y¥zëûy–
•þ„y•þyîû ö¢‡ †þy¡ ’þzþ›!ßi•þ ¥¥z¡Ð ~ô•þ ¤ôöìëû !î¡y•þ ¥¥zöì•þ
¤‚îy˜ xy!¤¡ òöë– !²Ì!£ì ö†þï!ªöì¡îû xyÞØþ¡ •þ„y¥yîû þ›öìÇþ !lÜ›!_
þ›y¥zëûyöìSé— !•þ!l xyþ›l ¤Á›!_ þ›%l/²Ìy® ¥¥zöìîl– Gëûy!¢¡yöìèþîû
Øþy†þy öæþîû•þ þ›y¥zöìîl ~î‚ !•þ!l xy˜y¡öì•þîû ‡îû‹þy þ›y¥zöìîlÐ
†þyôy‡Äylyí îyî% •þ„y¥yîû þ›öìÇþ ¥y¥zöì†þyöìØþÅîû ’þz†þ#¡ !Séöì¡l– !•þ!l
ßºëû‚ ~¥z ¤‚îy˜ ¡¥zëûy îûy™yîûy”#îû ôy•þyîû †%þØþ#öìîû ’þzþ›!ßi•þ ¥¥zöì¡lÐ
¤%¤‚îy˜ Ö!lëûy– îû&§¬yîû x!îîû¡ lëûly×& þ›!’þüöì•þ ¡y!ˆ¡Ð

!•þ!l lëûly×& ¤‚îîû” †þ!îûëûy †þyôy‡Äy îyî%öì†þ î!¡öì¡l–
òòöë ²Ì˜#þ› !l!îëûyöìSé– •þy¥yöì•þ ö•þ¡ !˜öì¡ !†þ ¥¥zöìîÚ xyþ›lyîû
~ ¤%¤‚îyöì̃ G xyôyîû xyîû ²Ìy”îûÇþy ¥¥zöìî lyÐ xyôyîû xyëû%/öì¢£ì
¥¥zëûyöìSéÐ •þöìî xyôyîû ~¥z ¤%‡ öë– îûy™yîûy”# xyîû xly¥yöìîû
²Ìy”•þÄyˆ †þ!îûöìî lyÐ •þy¥z îy ö†þ ?yöìlÚ ö¤ îy!¡†þy– •þy¥yîû ~
¤Á›!_ ö†þ îûÇþy †þ!îûöìîÚ ö†þî¡ xyþ›!l¥z èþîû¤yÐ xyþ›!l
xyôyîû ~¥z x!hsýô †þyöì¡ xyôyöìîû ~†þ!Øþ !èþÇþy !˜’þzléŸél!¥öì¡
xyîû †þy¥yîû †þyöìSé ‹þy!¥îÐóó

†þyôy‡Äy îyî% x!•þ èþo ö¡y†þ ~î‚ !•þ!l îûy™yîûy”#îû
!þ›•þyîû î¦%þ !Séöì¡lÐ îûy™yîûy”#îû ôy•þy ˜%˜Å¢y@ýÌhßì ¥¥zöì¡– !•þ!l
îûy™yîûy”#îû ôy•þyöì†þ î!¡ëûy!Séöì¡l öë– ë•þ !˜l ly xyþ›#¡
!lÜ›!_ þ›yëû– xhsý•þ/ •þ•þ !˜l ö•þyôîûy xy!¤ëûy xyôyîû ˆ,öì¥
xîßiyl †þîû– xy!ô xyþ›lyîû ôy•þyîû ô•þ ö•þyôyöì†þ îûy!‡îÐ
îûy™yîûy”#îû ôy•þy •þy¥yöì•þ xßº#†,þ•þy ¥¥zëûy!Séöì¡lÐ þ›!îûöì¢öì£ì
†þyôy‡Äy îyî% !†þS%é !†þS%é ôy!¤†þ ¤y¥yëÄ †þ!îûöì•þ ‹þy!¥öì¡lÐ òòxyôyîû
~‡lG !†þS%é ¥yöì•þ xyöìSééŸéxyî¢Ä†þ ¥¥zöì¡ ‹þy!¥ëûy ¡¥zîÐóó ~¥zîû*þ›
!ôíÄy †þíy î!¡ëûy îûy™yîûy”#îû ôy•þy ö¤ ¤y¥yëÄ @ýÌ¥öì” xßº#†,þ•þy
¥¥zëûy!Séöì¡lÐ îû&!©”#†%þôyöìîûîû ˜yl @ýÌ¥” •þ„y¥y!˜öì̂ îû ²Ìíô G ö¢£ì
˜yl @ýÌ¥”Ð

†þyôy‡Äy îyî% ~•þ!˜l î%!Vþöì•þ þ›yöìîûl ly¥z öë– •þ„y¥yîûy
~îû*þ› ˜%˜Å¢y@ýÌhßì ¥¥zëûyöìSélÐ ˜¢y ö˜!‡ëûy †þyôy‡Äyîyî% x•þÄhsý
†þy•þîû ¥¥zöì¡lÐ xyîyîû îûy™yîûy”#îû ôy•þy– ë%_«†þöìîû •þ„y¥yîû †þyöìSé
!èþÇþy ‹þy!¥öì•þöìSél– ö˜!‡ëûy xyîûG †þy•þîû ¥¥zöì¡l— î!¡öì¡l–
òòxyþ›!l xyKþy †þîû&l– xy!ô !†þ †þ!îûîÚ xyþ›lyîû ëy¥y ²Ìöìëûy?l#ëû–
xy!ô •þy¥y¥z †þ!îûîÐóó

îûy™yîûy”#îû ôy•þy î!¡öì¡l– òòxy!ô ‹þ!¡¡yô– !†þv
îûy™yîûy”# îû!¥¡Ð ~Çþöì” xy˜y¡•þ ¥¥zöì•þ xyôyîû Ù»Ööìîûîû ëíyíÅ
’þz¥z¡ !¤m* ¥¥zëûyöìSé— x•þ~î îûy™yîûy”# ~†þy ¤ôhßì ¤Á›!_îû
x!™†þy!îû”# ¥¥zöìîÐ xyþ›!l •þy¥yöì†þ ö˜!‡öìîl– xyþ›lyîû †þlÄyîû
ßiyëû •þy¥yöì†þ îûÇþy †þ!îûöìîl– ~¥z xyôyîû !èþÇþyÐ xyþ›!l ~¥z †þíy
ßº#†þyîû †þ!îûöì¡¥z xy!ô ¤%öì‡ ô!îûöì•þ þ›y!îûÐóó

†þyôy‡Äy îyî% î!¡öì¡l– òòxy!ô xyþ›lyîû !l†þØþ ¢þ›í
†þ!îûöì•þ!Sé– xy!ô îûy™yîûy”#öì†þ xyþ›l †þlÄyîû x!™†þ ëb †þ!îûîÐ
xy!ô †þyëûôöìlyîyöì†þÄ ~ †þíy †þ!¥¡yô— xyþ›!l !îÙ»y¤ †þîû&lÐóó

!ë!l ô%ô%£ì%Å– !•þ!l †þyôy‡Äy îyî%îû ‹þöìÇþîû ?¡ ö˜!‡ëûy–
•þ„y¥yîû †þíyëû !îÙ»y¤ †þ!îûöì¡lÐ •þ„y¥yîû ö¤¥z ¢#”Å ÖÜñ x™öìîû
~†þØ%þ xy¥Ïyöì˜îû ¥y!¤ ö˜‡y !˜¡Ð ¥y!¤ ö˜!‡ëûy †þyôy‡Äy îyî%
î%!Vþöì¡l– ¥z!l xyîû î„y!‹þöìîl lyÐ †þyôy‡Äy îyî% •þ„y¥yöì†þ !îöì¢£ì
†þ!îûëûy xl%öìîûy™ †þ!îûöì¡l öë– ~Çþöì” xyôyîû ˆ,öì¥ ‹þ¡%lÐ þ›öìîû
èþoy¤l ˜‡¡ ¥¥zöì¡ xy!¤öìîlÐ îûy™yîûy”#îû ôy•þyîû öë x¥Bþyîû–
ö¤ ˜y!îûoÄ?!l•þéŸé~?lÄ ˜y!îûoÄyîßiyëû •þ„y¥yîû ˆ,öì¥ ëy¥zöì•þ ‹þyöì¥l
ly¥zÐ ~Çþöì” xyîû ˜y!îûoÄ ly¥z– ¤%•þîûy‚ xyîû ö¤ x¥BþyîûG ly¥zÐ
~Çþöì” !•þ!l ëy¥zöì•þ ¤Á¿•þ ¥¥zöì¡lÐ †þyôy‡Äy îyî%– îûy™yîûy”# G
•þy¥yîû ôy•þyöì†þ ¤ëöìb !l?y¡öìëû ¡¥zëûy öˆöì¡lÐ

!•þ!l îû#!•þô•þ þ›#!’þü•þyîû !‹þ!†þê¤y †þîûy¥zöì¡lÐ !†þv
•þ„y¥yîû ?#îl îûÇþy ¥¥z¡ ly– xÒ!˜öìl¥z •þ„y¥yîû ô,•%þÄ ¥¥z¡Ð

’þzþ›ë%_« ¤ôöìëû †þyôy‡Äy îyî% îûy™yîûy”#öì†þ •þy¥yîû
¤Á›!_öì•þ ˜‡¡ ö˜Gëûy¥zöì¡lÐ !†þv îûy™yîûy”# îy!¡†þy î!¡ëûy
•þy¥yöì†þ !l? îyØþ#öì•þ ~†þy íy!†þöì•þ !˜öì¡l ly– xyþ›l ˆ,öì¥¥z
îûy!‡öì¡lÐ †þyöì¡Qîû ¤yöì¥î– îûy™yîûy”#îû ¤Á›!_ ö†þyØþÅ xî
Gëûy’þÅöì¤îû x™#öìl xy!lîyîû ?lÄ ëb þ›y¥zöì¡l– !†þv †þyôy‡Äy
îyî% !îöìî‹þly †þ!îûöì¡l– xy!ô îûy™yîûy”#îû ?lÄ ë•þ˜)îû †þ!îûî–
¤îû†þy!îû †þôÅ‹þy!îûˆ” •þ•þ˜)îû †þ!îûöìî lyÐ †þyôy‡Äyîyî%îû ö†þï¢öì¡
†þyöì¡Qîû ¤yöì¥î !lîûhßì ¥¥zöì¡lÐ †þyôy‡Äyîyî% ßºëû‚ îûy™yîûy”#îû
¤Á›!_îû •þ_´yî™yl †þ!îûöì•þ ¡y!ˆöì¡lÐ

îy!†þ îûy™yîûy”#îû !îîy¥Ð !†þv †þyôy‡Äy îyî% lîÄ•þöìsfîû
ö¡y†þ îy¡Ä!îîyöì¥ •þ„y¥yîû öm£ì !Sé¡Ð !•þ!l !îöìî‹þly †þ!îûöì¡l öë–
îûy™yîûy”#îû !îîy¥ •þy’þüy•þy!’þü ly !˜öì¡– ?y!•þ öˆ¡ ôöìl †þöìîû–
~ô•þ ö†þ¥ •þy¥yîû ly¥zÐ x•þ~î ëöìî îûy™yîûy”#– ßºëû‚ !îöìî‹þly
†þ!îûëûy !îîyöì¥ ¥zFS%é†þ ¥¥zöìî– •þöìî •þy¥yîû !îîy¥ !˜îÐ ~‡l ö¤
ö¡‡yþ›’þüy !¢‡%†þÐ ~¥z èþy!îëûy †þyôy‡Äy îyî% îûy™yîûy”#îû !îîyöì¥îû
ö†þyl ’þzöì̃ Äyˆ ly †þ!îûëûy– •þy¥yöì†þ ’þz_ôîû*öìþ› ¤%!¢!Çþ•þ †þîûy¥zöì¡lÐ
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B-9. îûy™yîûy”#îû ôy•þy ö†þl ˜%/!‡l# ¥¥zëûy!Séöì¡lÚ

(AŠ •þ„y¥yîû x¤%‡ î,!m* þ›yGëûy

(BŠ •þ„y¥yîû ¤Á›!_ ¥yîûyöìly

(CŠ •þ„y¥yîû öôöìëûîû !îîy¥ ly ¥Gëûy

(DŠ ’þzþ›!îû’þz_«=!¡îû ôöì™Ä ~öì†þîû öíöì†þ x!™†þ

(EŠ ’þzþ›öìîûîû ö†þyöìly!Øþ¥z lëû

B-10ƒ †þyôy‡Äylyí îyî% ö†þl îûy™yîûy”#îû ôy•þyîû †%þØþ#öìîû ’þzþ›!ßi•þ
¥¥zöì¡lÚ

(AŠ îûy™yîûy”#îû !îîyöì¥îû ²Ìhßìyî !löìëû

(BŠ ¤%¤‚îy˜ ?ylyöì•þ

(CŠ !‹þ!†þê¤yîû ?lÄ

(DŠ ’þzþ›!îû’þz_«=!¡îû ôöì™Ä ~öì†þîû öíöì†þ x!™†þ

(EŠ ’þzþ›öìîûîû ö†þyöìly!Øþ¥z lëû

B-11. îûy™yîûy”#îû ôy•þy †þyôy‡Äylyí îyî%îû †þyöìSé !†þ !èþÇþy
‹þy¥zöì¡lÚ

(A) xy!íÅ†þ ¤y¥yëÄ

(B) îûy™yîûy”#îû ëb ölGëûy

(C) !‹þ!†þê¤yîû îÄîßiy

(DŠ ’þzþ›!îû’þz_«=!¡îû ôöì™Ä ~öì†þîû öíöì†þ x!™†þ

(EŠ ’þzþ›öìîûîû ö†þyöìly!Øþ¥z lëû

B-12. †þyôy‡Äylyí îyî% ö†þl îûy™yîûy”#îû !îîyöì¥îû ’þzöì˜Äyˆ ly
†þ!îûëûy •þy¥yöì†þ ¤%!¢!Çþ•þ †þîûy¥zöì¡lÚ

(A) îy¡Ä!îîyöì¥ •þ„y¥yîû öm£ì !Sé¡

(B) îûy™yîûy”#îû x!lFSéy !Sé¡

(C) ’þzþ›ë%_« þ›ye ly þ›yGëûy

(DŠ ’þzþ›!îû’þz_«=!¡îû ôöì™Ä ~öì†þîû öíöì†þ x!™†þ

(EŠ ’þzþ›öìîûîû ö†þyöìly!Øþ¥z lëû

B-13. îûy™yîûy”#îû ôy•þy ö†þl †þyôy‡Äylyí îyî%îû ˆ,öì¥ xîßiyl
†þîûöì•þ ¤Á¿•þ ¥¥zöì¡lÚ

(A) •þ„y¥yîû ˜y!îûoÄ ˜)îû ¥Gëûy

(B) îûy™yîûy”#îû xl%öìîûy™

(C) !‹þ!†þê¤yîû ?lÄ

(DŠ ’þzþ›!îû’þz_«=!¡îû ôöì™Ä ~öì†þîû öíöì†þ x!™†þ

(EŠ ’þzþ›öìîûîû ö†þyöìly!Øþ¥z lëû

B-14. †þyôy‡Äylyí îyî% ö†þl îûy™yîûy”#îû ¤Á›!_îû •þ_´yî™yl
!löì? †þ!îûöì•þ ¡y!ˆöì¡lÚ

(A) †þyöì¡Qîû ¤yöì¥öìîîû xl%öìîûyöì™

(B) îûy™yîûy”#îû xl%öìîûyöì™

(C) ¤îû†þy!îû †þôÅ‹þy!îû̂ ” •þ•þ )̃îû †þ!îûöìî ly !îöìî‹þly
†þ!îûëûy

(DŠ ’þzþ›!îû’þz_«=!¡îû ôöì™Ä ~öì†þîû öíöì†þ x!™†þ

(EŠ ’þzþ›öìîûîû ö†þyöìly!Øþ¥z lëû
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²ÌÙÀ¤‚‡Äy ŒB-15 öíöì†þ B-20Š

˜#!® †þ!¥¡ééŸŸŸéé¤•þÄ †þíy î!¡öì•þ!Sé– xyôyîû ö•þy ôöìl ¥ëû
xy?†þy¡ ²Ì†,þ!•þîû hßìî ¡¥zëûy ö•þyôîûy ¤†þöì¡ !†þS%é îy’þüyîy!’þü
xyîû½þ †þ!îûëûySéÐ

xy!ô †þ!¥¡yôééŸŸŸééö˜î#– xyîûéŸé†þy¥yîûG hßìî î%!Vþ ö•þyôyöì̃ îû
ˆyöìëû ¤öì¥ lyÚ

˜#!® †þ!¥¡ééŸŸŸéë‡l hßìî Séy’þüy xyîû öî!¢ !†þS%é þ›yGëûy
ëyëû ly •þ‡l GØþyîû xþ›îÄëû ö˜!‡öì•þ þ›y!îû lyÐ

¤ô#îû x•þÄhsý !îlÁË ôöìly¥îû ¥yöì¤Ä @ýÌ#îy xyl!ô•þ
†þ!îûëûy †þ!¥¡ééŸŸŸéèþˆî•þ#– ²Ì†,þ!•þîû hßìî ~î‚ ö•þyôyöì˜îû hßìöìî
îöì’þüyéŸé~†þØþy ²Ìöìèþ˜ ly¥zÐ ¥z¥y öîy™ ¥ëû ¡ÇþÄ †þ!îûëûy ö˜!‡ëûy
íy!†þöìî– ëy¥yîûy ²Ì†,þ!•þîû hßìîˆyl îû‹þly †þ!îûëûy íyöì†þ •þy¥yîûy
ö•þyôyöì˜îû¥z ô!r˜öìîûîû ²Ì™yl þ›)?y!îûÐ

˜#!® x!èþôyl èþöìîû †þ!¥¡ééŸŸŸéxíÅyê ëy¥yîûy ?öì’þüîû
’þzþ›y¤ly †þöìîû •þy¥yîûy¥z xyôyöì˜îû èþ_«Ð

¤ô#îû †þ!¥¡ééŸŸŸéé~•þ îöì’þüy è%þ¡Øþy î%!Vþöì¡– †þyöì?¥z
~†þØþy ¤%˜#‰Å ÷†þ!æþëû•þ !˜öì•þ ¥ëûÐ xyôyöì˜îû è)þ•þ¤èþyîû î•þÅôyl
¤èþyþ›!•þ ×m*yß›˜ ×#ë%_« è)þ•þlyí îyî% •þ„yîû ’þyëûy!îûöì•þ ôl
lyô†þ ~†þØþy %̃îûhsý þ›˜yöìíÅîû ’þzþ›oöìîîû †þíy î”Åly †þ!îûëûy öë
~†þ!Øþ ²Ìî¦þ !¡!‡ëûyöìSél– ö¤ ö•þyôîûy ¤†þöì¡¥z þ›y‘þ †þ!îûëûySéÐ
xy!ô •þy¥yîû l#öì‹þ¥z =!Øþ†þ•þ†þ †þíy !¡!‡ëûy îûy!‡ëûy!Sé– ë!˜
¤èþÄˆ” xl%ô!•þ †þöìîûl •þöìî þ›y‘þ †þ!îûéŸéxyôyîû ôöìlîû èþyîØþy
•þy¥yöì•þ þ›!îûÜñyîû ¥¥zöìîÐ

!Çþ!•þ †þîûöì?yöì’þü †þ!¥¡ééŸŸŸéö˜öì‡y èþy¥z ¤ô#îû”– ö¡‡†þ
~î‚ þ›y‘þöì†þ öë ¤Á›†þÅ ö¤¥zöìØþ¥z ßºyèþy!î†þ ¤Á›†þÅéŸé•%þ!ô ¥zFSéy
†þ!îûëûy !¡!‡öì¡– xy!ô ¥zFSéy †þ!îûëûy þ›!’þü¡yô– ö†þyöìly þ›öìÇþ !†þS%é
î!¡îyîû îû!¥¡ lyÐ öël ‡yöìþ›îû ¤!¥•þ •þîûîy!îû !ô!¡ëûy öˆ¡Ð
!†þv •þîûîy!îû ë!˜ x!lFS%é†þ x!ßi‹þöìôÅîû ôöì™Ä ö¤¥zéŸé²Ì†þyîû ¤%̂ èþ#îû
xyd#ëû•þy ßiyþ›öìl ²Ìî,_ ¥ëû •þöìî ö¤Øþy ö•þôl öî¢ ßºyèþy!î†þ
~î‚ ôöìly¥îûîû*öìþ› ¤Á›§¬ ¥ëû lyÐ ö¡‡†þ ~î‚ ö×y•þyîû ¤Á›†þÅØþyG
ö¤¥zîû*þ› xßºyèþy!î†þ– x¤˜,¢Ð ö¥ ‹þ•%þîûyll– þ›yöìþ›îû öëôl
¢y!hsý¥z !î™yl †þîû– öël xyîûéŸé?öì§Ã ’þy_«yöìîûîû ö‰y’þüy– ôy•þyöì¡îû
ßf# ~î‚ ²Ìî¦þ ö¡‡öì†þîû î¦%þ ¥¥zëûy ?§Ã@ýÌ¥” ly †þ!îûÐ

öîÄyô ~†þØþy þ›!îû¥y¤ †þ!îûöì•þ ö‹þÜTy †þ!îû¡– †þ!¥¡ééŸŸŸé~öì†þ
ö•þy î¦%þ xöìíÅ¥z î¦þl– •þy¥yîû ’þzþ›öìîû ²Ìî¦þî¦þl ¥¥zöì¡ æþ„yöì¤îû
’þzþ›öìîû æþ„y¤ ¥ëû— ˆ[þöì¤Äyþ›!îû !îöìß³þyØþ†þôäÐ

˜#!® †þ!¥¡ééŸŸŸ¥y!¤îyîû ?lÄ ˜%¥z!Øþ îê¤îû ¤ôëû ²ÌyíÅly †þ!îû—
¥z!•þôöì™Ä þ›y!”!l xôîûöì†þy£ì ~î‚ ™y•%þþ›y‘þ xyëû_ †þ!îûëûy ¡¥zöì•þ
¥¥zöìîÐ Ö!lëûy öîÄyô x•þÄhsý ö†þï•%þ†þ¡yèþ †þ!îû¡Ð ¥y!¤öì•þ
¥y!¤öì•þ †þ!¥¡ééŸŸŸéîöì’þüy ‹þôê†þyîû î!¡ëûySé— xyôyîû ~†þØþy ˆÒ
ôöìl þ›!’þüöì•þöìSéééŸŸŸé

ößËy•þ!ßºl# †þ!¥¡ééŸŸŸéö•þyôîûy ¤ô#öìîûîû ö¡‡yØþy xy? xyîû Ö!löì•þ
!˜öìî ly ö˜!‡öì•þ!SéÐ ¤ô#îû– •%þ!ô þ›öì’þüy– ’þz¥yöì˜îû †þíyëû †þ”Åþ›y•þ
†þ!îûöìëûy lyÐ

ößËy•þ!ßºl#îû xyöì̃ öì¢îû !îîû&öìm* ö†þ¥ xyîû xyþ›!_ †þ!îû¡
lyÐ ~ôléŸé!†þ– ßºëû‚ !Çþ!•þ ö¢¡öìæþîû ’þzþ›îû ¥¥zöì•þ ’þyëûy!îûîû
‡y•þy!Øþ þ›y!’þüëûy xy!l¡ ~î‚ !l•þyhsý !lîû#¥ !lîû&þ›yöìëûîû ôöì•þy
¤‚ë•þ ¥¥zëûy î!¤ëûy îû!¥¡Ð

¤ô#îû þ›!’þüöì•þ ¡y!ˆ¡ééŸŸŸéôyl%£ìöì†þ îy™Ä ¥¥zëûy þ›öì˜ þ›öì˜ ôöìlîû
¤y¥yëÄ ¡¥zöì•þ ¥ëû– ~¥z?lÄ !èþ•þöìîû !èþ•þöìîû xyôîûy ö¤Øþyöì†þ
ö˜!‡öì•þ þ›y!îû lyÐ ôl xyôyöì˜îû xöìl†þ ’þzþ›†þyîû †þöìîû– !†þv
•þy¥yîû ßºèþyî ~ôl¥z öë– xyôyöì˜îû ¤öìD !†þS%éöì•þ¥z ö¤ ¤Á›)”Å
!ô!¡ëûy !ô!¢ëûy íy!†þöì•þ þ›yöìîû lyÐ ¤îÅ˜y !‡Øþ!‡Øþ †þöìîû– þ›îûyô¢Å
ö˜ëû– ’þzþ›öì˜¢ !˜öì•þ xyöì¤– ¤†þ¡ †þyöì?¥z ¥hßìöìÇþþ› †þöìîûÐ ö¤
öël ~†þ?l îy!¥öìîûîû ö¡y†þ ‰öìîûîû ¥¥zëûy þ›!’þüëûyöìSééŸé •þy¥yöì†þ
•þÄyˆ †þîûyG †þ!‘þl– •þy¥yöì†þ èþyöì¡yîy¤yG ˜%/¤y™ÄÐ

B-15. ˜#!®îû ôöì•þ– ²Ì†,þ!•þîû hßìî !löìëû †þ# ¥öìFSéÚ

(A) xþ›îÄëû

(B) x!•þîûOl

(C) xîöì¥¡y

(D) ’þzþ›!îû’þz_«=!¡îû ôöì™Ä ~öì†þîû öíöì†þ x!™†þ

(E) ’þzþ›öìîûîû ö†þyöìly!Øþ¥z lëû

B-16. ¤ô#öìîûîû ôöì•þ– ²Ì†,þ!•þîû hßìî ~î‚ •þyöì˜îû hßìöìîîû ôöì™Ä
†þ# ²Ìöìèþ˜ xyöìSéÚ

(A) ö†þyöìly ²Ìöìèþ˜ öl¥z

(B) !î¢y¡ ²Ìöìèþ˜

(C) ¤yôylÄ ²Ìöìèþ˜

(D) ’þzþ›!îû’þz_«=!¡îû ôöì™Ä ~öì†þîû öíöì†þ x!™†þ

(E) ’þzþ›öìîûîû ö†þyöìly!Øþ¥z lëû
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B-17. ˜#!® ö†þl ²Ì†,þ!•þîû hßìöìîîû xþ›îÄëû ö˜‡öì•þ þ›yöìîûl lyÚ

(A) •þyîû x!èþôyöìlîû †þyîûöì”

(B) •þyîû xèþyöìîîû †þyîûöì”

(C) •þyîû xþ›‹þöìëûîû †þyîûöì”

(D) ’þzþ›!îû’þz_«=!¡îû ôöì™Ä ~öì†þîû öíöì†þ x!™†þ

(E) ’þzþ›öìîûîû ö†þyöìly!Øþ¥z lëû

B-18. !Çþ!•þ †þ#èþyöìî ö¡‡†þ ~î‚ þ›y‘þöì†þîû ¤Á›†þÅöì†þ î”Åly
†þöìîûöìSélÚ

(A) ßºyèþy!î†þ ~î‚ ¤Á›)”Å

(B) xßºyèþy!î†þ ~î‚ x¤˜,¢

(C) xßºyèþy!î†þ ~î‚ ¤Á›)”Å

(D) ’þzþ›!îû’þz_«=!¡îû ôöì™Ä ~öì†þîû öíöì†þ x!™†þ

(E) ’þzþ›öìîûîû ö†þyöìly!Øþ¥z lëû

B-19. öîÄyöìôîû þ›!îû¥yöì¤îû ô)¡ !î£ìëû †þ#Ú

(A) î¦%þöìcîû î¦þl

(B) ²Ìîöì¦þîû î¦þl

(C) î¦%þc ~î‚ ²Ìîöì¦þîû î¦þl

(D) ’þzþ›!îû’þz_«=!¡îû ôöì™Ä ~öì†þîû öíöì†þ x!™†þ

(E) ’þzþ›öìîûîû ö†þyöìly!Øþ¥z lëû

B-20. ¤ô#öìîûîû ôöì•þ– ôöìlîû ßºèþyî †þ#Ú

(A) ¤¥öìëy!ˆ•þyô)¡†þ

(B) !‡Øþ!‡öìØþ ~î‚ ¥hßìöìÇþþ›†þyîû#

(C) ¤˜y¡yþ›# ~î‚ ’þzþ›öì˜¢ô)¡†þ

(D) ’þzþ›!îû’þz_«=!¡îû ôöì™Ä ~öì†þîû öíöì†þ x!™†þ

(E) ’þzþ›öìîûîû ö†þyöìly!Øþ¥z lëû

B-21. òòƒƒƒƒƒæ%þ¡ •%þöì¡ Gîûy !löì?îûy¥z ö˜îßiyöìl !˜öìëû xyöì¤Ðóó
îy†þÄ!Øþöì†þ †þôÅîyöì‹þÄ þ›!îû”•þ †þîûöì¡ ¥öìîééŸŸŸ

(A) ö•þy¡y æ%þ¡=!¡ ö˜îßiyöìl xyöì¤ Göì̃ îû !löì?öì̃ îû
myîûy¥z

(B) æ%þ¡ •%þöì¡ Göì˜îû !löì?öì˜îû myîûy¥z !˜öìëû xy¤y
¥ëû

(C) ö˜îßiyöìl æ%þ¡ •%þöì¡ Gîûy !löì?îûy¥z !˜öìëû xyöì¤

(D) ’þzþ›!îû’þz_«=!¡îû ôöì™Ä ~öì†þîû öíöì†þ x!™†þ

(E) ’þzþ›öìîûîû ö†þyöìly!Øþ¥z lëû

B-22. òòƒƒƒîyî%öì¡yöì†þîû öëôl ò÷î ‘þ †þ ‡ylyƒƒƒƒó öîû‡y!Bþ•þ þ›˜!Øþîû
¤ôy¤ !l”Åëû †þîû&lÐ

(A) ÷ìî‘þ†þ îöì¤ öë ‡ylyëû— ô™Äþ›˜öì¡yþ›# †þôÅ™yîûëûÐ

(B) ÷î‘þöì†þîû ŒxyUþyîûŠ !l!ô_ öë ‡yly Œ‰îûŠ—
!l!ô_ •þêþ›%îû&£ì

(C) ÷î‘þöì†þîû ‡yly— ¤Áº¦þ •þêþ›%îû&£ì

(D) ’þzþ›!îû’þz_«=!¡îû ôöì™Ä ~öì†þîû öíöì†þ x!™†þ

(E) ’þzþ›öìîûîû ö†þyöìly!Øþ¥z lëû

B-23. òƒƒƒƒöˆyîû&=!¡ ¤y!îû ¤y!îû î„y™y íyöì†þÐó ~‡yöìl òöìˆyîû&ó
þ›˜!Øþ ö†þylä !¡öìD îÄî¥*•þ ¥öìëûöìSééÚ

(A) þ›%‚!¡öìD

(B) ßf#!¡öìD

(C) þ›%‚ ~î‚ ßf# ’þzèþëû!¡öìD

(D) ’þzþ›!îû’þz_«=!¡îû ôöì™Ä ~öì†þîû öíöì†þ x!™†þ

(E) ’þzþ›öìîûîû ö†þyöìly!Øþ¥z lëû

B-24. ò÷î‘þ†þ‡ylyó ¢·!Øþ ö†þylä èþy£ìy?y•þÚ

(A) !¥!r˜

(B) æþyîû!¤

(C) ÷î‘þ†þ Œ!¥!r˜Š ~î‚ ‡yly Œæþyîû!¤Š xíÅyê
¤‚†þîû ¢·

(D) ’þzþ›!îû’þz_«=!¡îû ôöì™Ä ~öì†þîû öíöì†þ x!™†þ

(E) ’þzþ›öìîûîû ö†þyöìly!Øþ¥z lëû
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B-25. ò‹þy¡yØþyîû ôy‹þyëû ö•þy¡y íyöì†þ ‹þyöì£ìîû ¤yô@ýÌ#Ðó öîû‡y!Bþ•þ
þ›˜!Øþîû †þyîû†þ G !îèþ!_« ¥¡ééŸŸŸ

(A) x!™†þîûöì” òëûó !îèþ!_«

(B) †þôÅ†þyîûöì†þ òëûó !îèþ!_«

(C) †þîû”†þyîûöì†þ òëûó !îèþ!_«

(D) ’þzþ›!îû’þz_«=!¡îû ôöì™Ä ~öì†þîû öíöì†þ x!™†þ

(E) ’þzþ›öìîûîû ö†þyöìly!Øþ¥z lëû

B-26. l#öì‹þîû ö†þyl!Øþ òö†þy†þl˜óéŸé~îû ¤ôyíÅ†þ lëûÚ

(A) ’þzêþ›¡

(B) þ›y˜þ›

(C) ¢•þ˜¡

(D) ’þzþ›!îû’þz_«=!¡îû ôöì™Ä ~öì†þîû öíöì†þ x!™†þ

(E) ’þzþ›öìîûîû ö†þyöìly!Øþ¥z lëû7

B-27. þ›îûôy˜ < ²Ìôy˜ ~‡yöìl ™ç!l þ›!îûî•þÅöìlîû ö†þylä îû#!•þ
¡Çþ †þîûy ëyëûÚ

(A) ßºîû¤D!•þ

(B) x!þ›!l!¥!•þ

(C) ßºîûèþ!_« îy !î²Ì†þ£ìÅ

(D) ’þzþ›!îû’þz_«=!¡îû ôöì™Ä ~öì†þîû öíöì†þ x!™†þ

(E) ’þzþ›öìîûîû ö†þyöìly!Øþ¥z lëû

B-28. òò?#îéŸé•þyîûy ë!˜ ‡öì¤óóééŸŸŸò?#îéŸé•þyîûyó ¢·!Øþîû î%Äêþ›!_
!l”Åëû †þîû&lÐ

(A) ?#îlîû*þ›# •þyîûy ŒxíÅyê lÇþeŠ [îû*þ›†þ
†þôÅ™yîûëû]

(B) ?#î G •þyîûy Œmr˜Š

(C) ?#îöìlîû •þyîûy Œ¤Áº¦þ •þêþ›%îû&£ìŠ

(D) ’þzþ›!îû’þz_«=!¡îû ôöì™Ä ~öì†þîû öíöì†þ x!™†þ

(E) ’þzþ›öìîûîû ö†þyöìly!Øþ¥z lëû

B-29. òò!‹þîû!ßiîû †þöìî l#îû– ¥yëû öîû– ?#îléŸélöì˜Úóó é

éŸŸŸò?#îléŸélöì˜ó ö†þyl †þyîû†þÚ

(A) †þ•,þÅ†þyîûöì†þ òò~óó !îèþ!_«

(B) x!™†þîû” †þyîûöì†þ òò~óó !îèþ!_«

(C) †þîû”†þyîûöì†þ òò~óó !îèþ!_«

(D) ’þzþ›!îû’þz_«=!¡îû ôöì™Ä ~öì†þîû öíöì†þ x!™†þ

(E) ’þzþ›öìîûîû ö†þyöìly!Øþ¥z lëû

B-30. òòô™%¥#l †þöìîûy ly öˆy •þî ôl/öì†þy†þlöì˜Ðóó

éŸŸŸòòô™%¥#lóó †þ# þ›˜Ú

(A) !îöì¢£ìÄ

(B) xîÄëû

(C) !îöì¢£ì”

(D) ’þzþ›!îû’þz_«=!¡îû ôöì™Ä ~öì†þîû öíöì†þ x!™†þ

(E) ’þzþ›öìîûîû ö†þyöìly!Øþ¥z lëû
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PART - II
(GENERAL STUDIES)

31. Which of the following is the value of
(x+1/x)2 ?
(A) x2 + 1/x2

(B) x2 – 1/x2

(C) x2 + 1/x2  + 1
(D) More than one of the above
(E) None of the above

32. An article is at 10% more than the CP. If
discount of 10% is allowed then which of the
following is right ?
(A) 1% gain
(B) 1% loss
(C) no gain no loss
(D) More than one of the above
(E) None of the above

33. By what number should 81 be divided to get
a perfect cube ?
(A) 3
(B) 6
(C) 7
(D) More than one of the above
(E) None of the above

34. The difference between two whole numbers
is 66. The ratio of the two numbers is 2:5.
The two numbers are :
(A) 60 and 6
(B) 100 and 33
(C) 110 and 44
(D) More than one of the above
(E) None of the above

35. In a parallelogram ABCD, angle A and angle
B are in the ratio 1:2. Find the angle A.
(A) 30°
(B) 45°
(C) 60°
(D) More than one of the above
(E) None of the above

36. The height of a cylinder whose radius is 7 cm
and the total surface area is 968 cm2 is :
(A) 15 cm
(B) 17 cm
(C) 19 cm
(D) More than one of the above
(E) None of the above

37. If (–3)m+1 × (–3)5 = (–3)7, then the value of m
is :
(A) 5
(B) 7
(C) 1
(D) More than one of the above
(E) None of the above

38. If x and y are inversely proportional, then:
(A) y/x = constant
(B) xy = constant
(C) x/y = constant
(D) More than one of the above
(E) None of the above

39. A piece of wire of resistance R is cut into 5
equal parts. These parts are then connected
in parallel. If the equivalent resistance of the
combination is R', then the ratio R/R' is ___
(A) 1/25
(B) 1/5
(C) 25
(D) More than one of the above
(E) None of the above

40. An electric heater of resistance 8  draws
15A current from a service mains for 2 Hrs.
What will be the rate at which heat is
developed in the heater ?
(A) 220 watt
(B) 120 watt
(C) 210 watt
(D) More than one of the above
(E) None of the above
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PART - II
(GENERAL STUDIES)

31. {ZåZ{b{IV ‘| go H$m¡Z gm (x+1/x)2  H$m ‘mZ h¡ ?
(A) x2 + 1/x2

(B) x2 – 1/x2

(C) x2 + 1/x2  + 1
(D) Cn`w©ŠV _| go EH$ go A{YH$
(E) Cn`w©ŠV _| go H$moB© Zht

32. EH$ boI grnr go 10% A{YH$ na h¡ & ¶{X 10% H$s
Ny>Q> H$s AZw‘{V h¡ Vmo {ZåZ{b{IV ‘| go H$m¡Z gm ghr h¡ ?
(A) 1% bm^
(B) 1% hm{Z
(C) Z bm^ Z hm{Z
(D) Cn`w©ŠV _| go EH$ go A{YH$
(E) Cn`w©ŠV _| go H$moB© Zht

33. nyU© KZ àmá H$aZo Ho$ {bE 81 H$mo {H$g g§»¶m go {d^m{OV
{H$¶m OmZm Mm{hE ?
(A) 3
(B) 6
(C) 7
(D) Cn`w©ŠV _| go EH$ go A{YH$
(E) Cn`w©ŠV _| go H$moB© Zht

34. Xmo nyU© g§»¶mAm| Ho$ ~rM H$m A§Va 66 h¡ & XmoZm| g§»¶mAm|
H$m AZwnmV 2:5 h¡ & XmoZm| g§»¶mE± h¢ :
(A) 60 Am¡a 6
(B) 100 Am¡a 33
(C) 110 Am¡a 44
(D) Cn`w©ŠV _| go EH$ go A{YH$
(E) Cn`w©ŠV _| go H$moB© Zht

35. EH$ g‘m§Va MVŵ w©O ABCD ‘|, H$moU A Am¡a H$moU B H$m
AZwnmV 1:2 h¡ & H$moU A kmV H$s{OE &
(A) 30°
(B) 45°
(C) 60°
(D) Cn`w©ŠV _| go EH$ go A{YH$
(E) Cn`w©ŠV _| go H$moB© Zht

36. EH$ ~obZ H$s D§$MmB© {OgH$s {ÌÁ¶m 7 go_r h¡ Am¡a Hw$b
gVh joÌ’$b 968 go_r2 h¡ :
(A) 15 go_r
(B) 17 go_r
(C) 19 go_r
(D) Cn`w©ŠV _| go EH$ go A{YH$
(E) Cn`w©ŠV _| go H$moB© Zht

37. ¶{X (–3)m+1 × (–3)5 = (–3)7, Vmo m H$m _mZ h¡?
(A) 5
(B) 7
(C) 1
(D) Cn`w©ŠV _| go EH$ go A{YH$
(E) Cn`w©ŠV _| go H$moB© Zht

38. `{X x Am¡a y ì¶wËH«$‘mZwnmVr h¢, Vmo:
(A) y/x = pñWam§H$
(B) xy = pñWam§H$
(C) x/y = pñWam§H$
(D) Cn`w©ŠV _| go EH$ go A{YH$
(E) Cn`w©ŠV _| go H$moB© Zht

39. à{VamoY R Ho$ {H$gr Vma Ho$ Qw>H$‹S>>o nm§M ~am~a ̂ mJm| ‘| H$mQ>o
OmVo h¢ & BZ Qw>H$‹S>m| H$mo {’$a nmíd© H«$‘ ‘| g§¶mo{OV H$a XoVo
h¢ & ¶{X g§¶moOZ H$m Vwë¶ à{VamoY R' h¡ Vmo R/R' AZwnmZ
H$m ‘mZ ³¶m hmoJm ?
(A) 1/25
(B) 1/5
(C) 25
(D) Cn`w©ŠV _| go EH$ go A{YH$
(E) Cn`w©ŠV _| go H$moB© Zht

40. 8  à{VamoY H$m H$moB© {dÚwV hrQ>a {dÚwV ‘oÝg ‘| 2 K§Q>o
VH$ 15A {dÚwVYmam boVm h¡ & hrQ>a ‘| CËnÞ D$î‘m H$s Xa
³¶m hmoJr ?
(A) 220 watt
(B) 120 watt
(C) 210 watt
(D) Cn`w©ŠV _| go EH$ go A{YH$
(E) Cn`w©ŠV _| go H$moB© Zht
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41. Which of the following lenses would you
prefer to use while reading small letters found
in the dictionary ?

(A) A convex lens of 50 cm

(B) A concave lens of 50 cm

(C) A concave lens of 5 cm

(D) More than one of the above

(E) None of the above

42. The human eye forms the image of an object
at its ________

(A) Cornea

(B) Iris

(C) Retina

(D) More than one of the above

(E) None of the above

43. Which of the following is not a part of the
female reproductive system in human beings ?

(A) Ovary

(B) Uterus

(C) Vas deferens

(D) More than one of the above

(E) None of the above

44. The anther contains _________

(A) Sepals

(B) Ovules

(C) Pollen grains

(D) More than one of the above

(E) None of the above

45. Asexual reproduction takes place through
budding in ______

(A) Amoeba

(B) Yeast

(C) Plasmodium

(D) More than one of the above

(E) None of the above

46. Which one of the following types of medicines
used for treating indigestion ?

(A) Antibiotic

(B) Antacid

(C) Analgesic

(D) More than one of the above

(E) None of the above

47. The task of processing citizenship applications
under the CAA will be undertaken by

(A) Postal Department

(B) Census Department

(C) Central Security IB

(D) More than one of the above

(E) None of the above

48. In which of the following country India
launched its UPI ?

(A) Thailand

(B) Myanmar

(C) Mauritius

(D) More than one of the above

(E) None of the above

49. What is the name of space craft to be
launched by ISRO in 2024 to carry
astronauts ?

(A) Akashyan

(B) Gaganyan

(C) Bhramyan

(D) More than one of the above

(E) None of the above

50. Which country is not a member of G 7 ?

(A) Russia

(B) Canada

(C) USA

(D) More than one of the above

(E) None of the above
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41. {H$gr eãXH$mof ‘| {bIo N>moQ>o Ajam| H$mo n‹T>Vo g‘¶ Amn
{ZåZ ‘o go H$m¡Z gm boÝg ngÝX H$a|Jo ?

(A) 50 cm ’$moH$g Xÿar H$m CÎmb boÝg

(B) 50 cm ’$moH$g Xÿar H$m AdVb boÝg

(C) 5 cm ’$moH$g Xÿar H$m AdVb boÝg

(D) Cn`w©ŠV _| go EH$ go A{YH$

(E) Cn`w©ŠV _| go H$moB© Zht

42. {ZåZ{b{IV ‘| go {H$g ̂ mJ na {H$gr dñVw H$m à{V{~å~
~ZmVo h¢ ?

(A) H$m{Z©¶m

(B) n[aVm[aH$m

(C) Ñ{ï> nQ>b

(D) Cn`w©ŠV _| go EH$ go A{YH$

(E) Cn`w©ŠV _| go H$moB© Zht

43. {ZåZ{b{IV _| go H$m¡Z ‘mXm OZZ V§Ì H$m ̂ mJ Zht h¡ ?

(A) A§S>me¶

(B) J^m©e¶

(C) ewH«$dm{hH$m

(D) Cn`w©ŠV _| go EH$ go A{YH$

(E) Cn`w©ŠV _| go H$moB© Zht

44. namJH$moe ‘| hmoVo h¢ ............

(A) dmøXb

(B) A§S>me¶

(C) namJH$U

(D) Cn`w©ŠV _| go EH$ go A{YH$

(E) Cn`w©ŠV _| go H$moB© Zht

45. Ab¢{JH$ OZZ ‘wHw$bZ Ûmam hmoVm h¡ ______

(A) A‘r~m ‘|

(B) ¶rñQ> ‘|

(C) ßbmÁ‘mo{S>¶‘ ‘|

(D) Cn`w©ŠV _| go EH$ go A{YH$

(E) Cn`w©ŠV _| go H$moB© Zht

46. AnM H$m CnMma H$aZo Ho$ {bE {ZåZ ‘| go {H$g Am¡f{Y H$m
Cn¶moJ hmoVm h¡ ?

(A) à{VO¡{dH$

(B) à{VAåb

(C) nr‹S>mhmar

(D) Cn`w©ŠV _| go EH$ go A{YH$

(E) Cn`w©ŠV _| go H$moB© Zht

47. CAA Ho$ AÝVJ©V ZmJ[aH$Vm à{H«$¶m Ho$ {bE AmdoXZ Am¡a
{ZînmXZ {H$g Ho$ Ûmam {H$¶m Om¶oJm ?

(A) S>mH$ {d^mJ Ûmam

(B) OZJUZm {d^mJ Ûmam

(C) Ho$ÝÐr¶ gwajm AmB©.~r. Ûmam

(D) Cn`w©ŠV _| go EH$ go A{YH$

(E) Cn`w©ŠV _| go H$moB© Zht

48. {ZåZ ‘| go {H$g Xoe ‘| ^maV Zo AnZm UPI Mmby {H$¶m
h¡ ?

(A) WmB©boÝS>

(B) å¶mÝ‘ma

(C) ‘moargg

(D) Cn`w©ŠV _| go EH$ go A{YH$

(E) Cn`w©ŠV _| go H$moB© Zht

49. Bgamo Ûmam 2024 ‘| A§V[aj ¶m{Ì¶mo g{hV ^oOZo dmbo
A§V[aj¶mZ H$m Zm‘ h¡ ______

(A) AmH$me¶mZ

(B) JJZ¶mZ

(C) ~«÷¶mZ

(D) Cn`w©ŠV _| go EH$ go A{YH$

(E) Cn`w©ŠV _| go H$moB© Zht

50. H¡$Z gm Xoe G 7 H$m gXñ¶ Zht h¡ ?

(A) agr¶m

(B) H$ZmS>m

(C) ¶w.Eg.E

(D) Cn`w©ŠV _| go EH$ go A{YH$

(E) Cn`w©ŠV _| go H$moB© Zht
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51. The process involved in achieving Green
hydrogen is
(A) Electrolysis
(B) Dehydrogenesis
(C) Dehydration
(D) More than one of the above
(E) None of the above

52. Which technology can be used to revise
deceased individuals ?
(A) Deepfake
(B) AI
(C) Chatbot
(D) More than one of the above
(E) None of the above

53. In cost of living index parameter 2024 which
country is better than India ?
(A) Nigeria
(B) Pakistan
(C) Bangladesh
(D) More than one of the above
(E) None of the above

54. Who supported Gandhiji in Champaran
Satyagraha in 1917 in support of farmers ?
(A) Birsa Munda
(B) Rajendra Prasad
(C) Satya Narayan Sinha
(D) More than one of the above
(E) None of the above

55. Which is the moon-like planet ?
(A) Mercury
(B) Mars
(C) Earth
(D) More than one of the above
(E) None of the above

56. On the basis of fossils which is the origin place
of man ?
(A) Rift valley of Africa
(B) Central Asia
(C) Jerusalem
(D) More than one of the above
(E) None of the above

57. In India dry point settlement is found in
(A) Flood prone area
(B) Bikaner
(C) Aravali region
(D) More than one of the above
(E) None of the above

58. In which district of Bihar Paddy crop
production is maximum ?
(A) Bhojpur
(B) Rohtas
(C) Nalanda
(D) More than one of the above
(E) None of the above

59. On which mountain is Tehran situated ?
(A) Alburz
(B) Zagros
(C) Makran
(D) More than one of the above
(E) None of the above

60. The highest peak in the Eastern Ghats of India
is :
(A) Anai Mudi
(B) Kanchenjunga
(C) Mahendragiri
(D) More than one of the above
(E) None of the above

61. Which of these statements is not a valid reason
for the depletion of flora and fauna ?
(A) Agricultural expansion
(B) Large scale development projects
(C) Grazzing and fuel wood collection
(D) More than one of the above
(E) None of the above

62. In which district of Bihar silk textile production
is maximum ?
(A) Madhubani
(B) Bhagalpur
(C) Aurangabad
(D) More than one of the above
(E) None of the above
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51. h[aV hm¶S´>moOZ àm{á H$m H$m¡Z gm VarH$m h¡ ?
(A) Bbo³Q>́mobm¶{gg
(B) S>rhm¶Ś>moOoZo{gg
(C) {ZO©brH$aU
(D) Cn`w©ŠV _| go EH$ go A{YH$
(E) Cn`w©ŠV _| go H$moB© Zht

52. H$m¡Z gr VH$ZrH$ ‘¥V H$mo nwZOu{dV {XIm gH$Vr h¡ ?
(A) S>rn’o$H$
(B) E. AmB©
(C) M¡Q ~moQ>
(D) Cn`w©ŠV _| go EH$ go A{YH$
(E) Cn`w©ŠV _| go H$moB© Zht

53. 2024 Ho$ Or{dV gyMH$m§J AmH$bZ ‘| H$m¡Z gm Xoe ̂ maV
go ~ohVa h¡ ?
(A) ZmBOr[a¶m
(B) nm{H$ñVmZ
(C) ~§½bmXoe
(D) Cn`w©ŠV _| go EH$ go A{YH$
(E) Cn`w©ŠV _| go H$moB© Zht

54. {H$gmZm| Ho$ {hV ‘| Jm§YrOr Zo 1917 ‘§o MånmaZ gË¶mJ«h
{H$gHo$ gh¶moJ go {H$¶m Wm ?
(A) {~agm ‘wÊS>m
(B) amOoÝÐ àgmX
(C) gË¶Zmam¶U {gÝhm
(D) Cn`w©ŠV _| go EH$ go A{YH$
(E) Cn`w©ŠV _| go H$moB© Zht

55. MÝÐ‘m gÑí¶ J«h H$m¡Z-gm h¡ ?
(A) ~wY
(B) ‘§Jb
(C) n¥Ïdr
(D) Cn`w©ŠV _| go EH$ go A{YH$
(E) Cn`w©ŠV _| go H$moB© Zht

56. Ordmí‘ Ho$ AmYma na ‘mZd CËn{Îm Ho$ÝÐ H$m¡Z-gm h¡ ?
(A) A\«$sH$m H$s [aâQ>$ KmQ>r
(B) ‘Ü¶ E{e¶m
(C) Ooégb‘
(D) Cn`w©ŠV _| go EH$ go A{YH$
(E) Cn`w©ŠV _| go H$moB© Zht

57. ^maV ‘| ewîH$ {dÝXþ ~ñVr {‘bVr h¡
(A) ~m‹T> joÌm| ‘|
(B) {~H$mZoa ‘|
(C) Aamdbr àXoe
(D) Cn`w©ŠV _| go EH$ go A{YH$
(E) Cn`w©ŠV _| go H$moB© Zht

58. {~hma Ho$ {H$g {Ob| ‘| YmZ H$m CËnmXZ gd©m{YH$ hmoVm h¡?
(A) ^moOnwa
(B) amohVmg
(C) ZmbÝXm
(D) Cn`w©ŠV _| go EH$ go A{YH$
(E) Cn`w©ŠV _| go H$moB© Zht

59. VohamZ {H$g nd©V na pñWV h¡ ?
(A) Eb~wO©
(B) O¡J«mog
(C) ‘H$amZ
(D) Cn`w©ŠV _| go EH$ go A{YH$
(E) Cn`w©ŠV _| go H$moB© Zht

60. ^maV Ho$ nydu KmQ> H$s g~go D±$Mr MmoQ>r h¡ …
(A) AZmB© ‘wS>r
(B) H§$MZO§Jm
(C) ‘hoÝÐ{J[a
(D) Cn`w©ŠV _| go EH$ go A{YH$
(E) Cn`w©ŠV _| go H$moB© Zht

61. BZ‘| go H$m¡Z-gm H$WZ dZñn{V¶m| Am¡a Ordm| H$s H$‘r H$m
d¡Y H$maU Zht h¡ ?
(A) H¥${fJV ’¡$bmd
(B) d¥h²X n¡‘mZo na ¶moOZmAm| H$m {dH$mg
(C) MamB© Am¡a ObmZo H$s bH$‹S>r H$m EH$^rH$aU
(D) Cn`w©ŠV _| go EH$ go A{YH$
(E) Cn`w©ŠV _| go H$moB© Zht

62. {~hma Ho$ {H$g {Obo ‘| aoe‘r dó H$m CËnmXZ gd©m{YH$
hmoVm h¡ ?
(A) ‘Yw~Zr
(B) ^mJbnwa
(C) Am¡a§Jm~mX
(D) Cn`w©ŠV _| go EH$ go A{YH$
(E) Cn`w©ŠV _| go H$moB© Zht
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63. Who was the viceroy of India during the
Jallianwala Bagh massacre ?

(A) Lord Curzon

(B) Lord Chelmsford

(C) Lord Irwin

(D) More than one of the above

(E) None of the above

64. The first President of the Indian National
Congress was:

(A) Dadabhai Naoroji

(B) W. C. Bonnerjee

(C) Badruddin Tyabji

(D) More than one of the above

(E) None of the above

65. Who among the following is also known as
the Grand old man of India ?

(A) Bal Gangadhar Tilak

(B) Dadabhai Naoroji

(C) Gopal Krishna Gokhale

(D) More than one of the above

(E) None of the above

66. Which of the following movements was
started by M. K. Gandhi ?

(A) Quit India Movement

(B) Non cooperation movement

(C) Swadesi movement

(D) More than one of the above

(E) None of the above

67. Who was the leader of the Bardoli
Satyagraha ?

(A) Sardar Vallabhbhai Patel

(B) Bal Gangadhar Tilak

(C) Jawaharlal Nehru

(D) More than one of the above

(E) None of the above

68. Who among the following is not associated
with Home rule movement ?

(A) Annie Besant

(B) Bal Gangadhar Tilak

(C) Sarojini Naidu

(D) More than one of the above

(E) None of the above

69. Who founded the Bihar provincial congress
committee in 1920 ?

(A) Dr. Rajendra Prasad

(B) Anugrah Narayan Sinha

(C) Jai Prakash Narayan

(D) More than one of the above

(E) None of the above

70. The All India Kisan Sabha (AIKS) was
founded in 1936 in Bihar under the leadership
of :

(A) Dr. Rajendra Prasad

(B) Jai Prakash Narayan

(C) Swami Sahajanand Saraswati

(D) More than one of the above

(E) None of the above
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63. O{b`m§dmbm ~mJ H$m§S> Ho$ Xm¡amZ ̂ maV H$m dm¶gam¶ H$m¡Z
Wm ?

(A) bmS>© H$O©Z

(B) bmS>© Moåg’$moS>©

(C) bmS>© Ba{dZ

(D) Cn`w©ŠV _| go EH$ go A{YH$

(E) Cn`w©ŠV _| go H$moB© Zht

64. ^maVr¶ amï´>r¶ H§$J«og Ho$ nhbo AÜ¶j Wo …

(A) XmXm^mB© Zm¡amoOr

(B) S>ãby. gr. ~moZOu

(C) ~XéÔrZ V¡æ¶~Or

(D) Cn`w©ŠV _| go EH$ go A{YH$

(E) Cn`w©ŠV _| go H$moB© Zht

65. {ZåZ[b{IV ‘§o go {H$gH$mo "J«¡ÊS> AmoëS> ‘¡Z Am’$ B§{S>¶m'
Ho$ Zm‘ go ̂ r OmZm OmVm h¡ ?

(A) ~mb J§JmYa {VbH$

(B) XmXm ̂ mB© Zm¡amoOr

(C) Jmonmb H¥$îU JmoIbo

(D) Cn`w©ŠV _| go EH$ go A{YH$

(E) Cn`w©ŠV _| go H$moB© Zht

66. {ZåZ{b{IV ‘| go H$m¡Z go Am§XmobZ E‘. Ho$.Jm§Yr Ûmam ewê$
{H$E JE Wo ?

(A) ^maV N>mo‹S>mo Am§XmobZ

(B) Agh¶moJ Am§XmobZ

(C) ñdXoer Am§XmobZ

(D) Cn`w©ŠV _| go EH$ go A{YH$

(E) Cn`w©ŠV _| go H$moB© Zht

67. ~maXmobr gË¶mJ«h H$m ZoVm H$m¡Z Wm ?

(A) gaXma d„^ ̂ mB© nQ>ob

(B) ~mb J§JmYa {VbH$

(C) Odmha bmb Zohé

(D) Cn`w©ŠV _| go EH$ go A{YH$

(E) Cn`w©ŠV _| go H$moB© Zht

68. {ZåZ{b{IV ‘§o go H$m¡Z hmo‘ ê$b Am§XmobZ go gå~Õ Zhr
Wm ?

(A) EZr {~g|Q>

(B) ~mb J§JmYa {VbH$

(C) gamoOZr Zm¶Sy>

(D) Cn`w©ŠV _| go EH$ go A{YH$

(E) Cn`w©ŠV _| go H$moB© Zht

69. {H$gZo 1920 B©. ‘| {~hma àmXo{eH$ H$m§J«og H$‘oQ>r H$s ñWmnZm
H$s Wr ?

(A) S>m°. amOoÝÐ àgmX

(B) AZwJ«h Zmam¶U {gÝhm

(C) O¶àH$me Zmam¶U

(D) Cn`w©ŠV _| go EH$ go A{YH$

(E) Cn`w©ŠV _| go H$moB© Zht

70. 1936 ‘| A{Ib ̂ maVr¶ {H$gmZ g^m (E.AmB©. Ho$. Eg.)
H$s ñWmnZm [~hma ‘| {H$gHo$ ZoV¥Ëd ‘o§ hþB© Wr ?

(A) S>m°. amOoÝÐ àgmX

(B) O¶ àH$me Zmam¶U

(C) ñdm‘r ghOmZ§X gañdVr

(D) Cn`w©ŠV _| go EH$ go A{YH$
(E) Cn`w©ŠV _| go H$moB© Zht
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71. The active chemical drug reserpine is
obtained from ____ plant.

(A) Rauwolfia

(B) Santalum

(C) Atropa

(D) More than one of the above

(E) None of the above

72. Which of the following groups exhibits
highest number of species?

(A) Algae

(B) Bryophytes

(C) Fungi

(D) More than one of the above

(E) None of the above

73. What is the common in the following
techniques-

i) in vitro fertilization,

ii) tissue culture propagation and

iii) cryopreservation?

(A) All are in situ conservation methods

(B) All are methods of conservation of
extinct organisms

(C) All are ex situ conservation methods

(D) More than one of the above

(E) None of the above

PART - III
(BOTANY)

74. The historic convention on biological
diversity held in Rio de Janeiro in 1992 is
also known as ______.

(A) The Earth Summit

(B) MAP Program

(C) CITES Convention

(D) More than one of the above

(E) None of the above

75. Which of the following forest is known as
“lungs of the planet”?

(A) Tundra forest

(B) Amazon rainforest

(C) Taiga forest

(D) More than one of the above

(E) None of the above

76. Agarose extracted from seaweed is used
in _______.

(A) Tissue culture

(B) Gel electrophoresis

(C) Spectroscopy

(D) More than one of the above

(E) None of the above
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71. g{H«$¶ amgm¶{ZH$ Am¡f{Y [aganmBZ ............. nmXn go
àmá H$s OmVr h¡&

(A) amCdmopë’$¶m

(B) g¢Q>mb‘

(C) EQ́>monm

(D) Cn`w©³V ‘| go EH$ go A{YH$

(E) Cn`w©³V ‘| go H$moB© Zht

72. {ZåZ{b{IV ‘| go H$m¡Zgm g‘yh g~go A{YH$ g§»¶m ‘|
àOm{V¶m± àX{e©V H$aVm h¡?

(A) e¡dmb

(B) ~«m¶mo’$mBQ²>g

(C) H$dH$

(D) Cn`w©³V ‘| go EH$ go A{YH$

(E) Cn`w©³V ‘| go H$moB© Zht

73. {ZåZ VH$ZrH$m| ‘| ³¶m g‘mZVm h¡ -

i) BZ {dQ´>mo ’${Q>©bmBOoeZ

ii) {Q>ey H$ëMa àdY©Z Am¡a

iii) H«$m¶mo{àOd}eZ

(A) g^r ¶WmñWmZ g§ajU {d{Y¶m§ h¢

(B) ¶o g^r {dbwá Ordm| Ho$ g§ajU Ho$ VarHo$ h¢

(C) g^r nyd©-pñW{V g§ajU {d{Y¶m± h¢

(D) Cn`w©³V ‘| go EH$ go A{YH$

(E) Cn`w©³V ‘| go H$moB© Zht

PART - III
(BOTANY)

74. 1992 ‘| [a¶mo S>r OZo[a¶mo ‘| Am¶mo{OV O¡¡{dH$ {d{dYVm
na Eo{Vhm{gH$ gå‘obZ H$mo .............  Ho$ ê$n ‘| ^r
OmZm OmVm h¡&

(A) n¥Ïdr {eIa gå‘obZ

(B) E‘ E nr H$m¶©H«$‘

(C) gr AmB© Q>r B© Eg gå‘obZ

(D) Cn`w©³V ‘| go EH$ go A{YH$

(E) Cn`w©³V ‘| go H$moB© Zht

75. {ZåZ{b{IV ‘| go {H$g O§Jb H$mo ""J«h Ho$ ’o$’$‹S>o'' Ho$
ê$n  ‘| OmZm OmVm h¡?

(A) Qw>§S´>m dZ

(B) A‘o‹OZ dfm©dZ >

(C) Q>mBJm dZ

(D) Cn`w©³V ‘| go EH$ go A{YH$

(E) Cn`w©³V ‘| go H$moB© Zht

76. g‘wÐr e¡dmb go {ZH$mbo JE AJmamoO H$m Cn¶moJ
.............  ‘| {H$¶m OmVm h¡&

(A) D$VH$ g§dY©Z

(B) Oob d¡ÚwVH$Ug§MbZ

(C) ñno³Q́>moñH$monr

(D) Cn`w©³V ‘| go EH$ go A{YH$

(E) Cn`w©³V ‘| go H$moB© Zht
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77. The enzyme catalysing the removal of
nucleotides from the ends of DNA is _____.

(A) Exonuclease

(B) Hind II

(C) Ligase

(D) More than one of the above

(E) None of the above

78. Select the correct order of processing of
PCR.

(A) Extension, Primer Annealing,
Denaturation

(B) Denaturation, Extension, Primer
Annealing

(C) Denaturation, Primer Annealing,
Extension

(D) More than one of the above

(E) None of the above

79. The antibiotics are used as ______ in genetic
engineering.

(A) Selectable markers

(B) Recombinant protein

(C) Selectable healthy vectors

(D) More than one of the above

(E) None of the above

80. Which of the following is correctly matched?

(A) Gene gun - biolistic gun

(B) Plasmids - extrachromosomal DNA

(C) Bacteriophages - viruses

(D) More than one of the above

(E) None of the above

81. The most important feature in a plasmid to
be used as a vector is_____.

(A) Presence of selectable marker

(B) Origin of replicator

(C) Its size

(D) More than one of the above

(E) None of the above

82. The correct expanded form of GEAC is
____.

(A) Genetic Engineering Agricultural
Committee

(B) Genetic Engineering Approval
Committee

(C) Genetic Engineering Agricultural
Council

(D) More than one of the above

(E) None of the above
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77. S>r EZ E Ho$ {gam| ‘| Ý¶yp³b¶moQ>mBS> H$mo hQ>mZo Ho$ {bE
CËào[aV H$aZo dmbm E§OmB‘ .............  h¡&

(A) E³gmoÝ¶yp³b‹O>

(B) qhX {ÛVr¶

(C) bmBJo‹O>

(D) Cn`w©³V ‘| go EH$ go A{YH$

(E) Cn`w©³V ‘| go H$moB© Zht

78. nr gr Ama Ho$ àg§ñH$aU H$m ghr H«$‘ MwZ|&

(A) {dñVma, àmB‘a EZrqbJ, {dH¥$VrH$aU

(B) {dH¥$VrH$aU, {dñVma, àmB‘a EZrqbJ

(C) {dH¥$VrH$aU, àmB‘a EZrqbJ, {dñVma

(D) Cn`w©³V ‘| go EH$ go A{YH$

(E) Cn`w©³V ‘| go H$moB© Zht

79. OoZo{Q>H$ B§Or{Z¶[a¨J ‘|, E§Q>r~m¶mo{Q>Šg H$m Cn¶moJ
.............  Ho$ ê$n ‘| {H$¶m OmVm h¡&

(A) M¶Z ¶mo½¶ ‘mH©$a

(B) nwZ… g§¶moOH$ àmoQ>rZ

(C) M¶Z ¶mo½¶ h¡ëXr d¡³Q>a

(D) Cn`w©³V ‘| go EH$ go A{YH$

(E) Cn`w©³V ‘| go H$moB© Zht

80. {ZåZ{b{IV ‘| go H$m¡Z gm ghr gw‘o{bV h¡?

(A) OrZ JZ - ~m¶mo{bpñQ>H$ JZ

(B) ßbmpñ‘S> - E³ñQ´>mH«$mo‘mogmo‘b S>r EZ E

(C) ~¡³Q>r[a¶mo’o$O - dm¶ag

(D) Cn`w©³V ‘| go EH$ go A{YH$

(E) Cn`w©³V ‘| go H$moB© Zht

81. do³Q>a Ho$ ê$n ‘| Cn¶moJ {H$E OmZo dmbo ßbmpñ‘S> ‘|
g~go ‘hËdnyU© {deofVm .............   hmoVr h¡&

(A) M¶Z ¶mo½¶ ‘mH©$a H$s CnpñW{V

(B) à{VH¥${V H$s CËn{Îm

(C) BgH$m AmH$ma

(D) Cn`w©³V ‘| go EH$ go A{YH$

(E) Cn`w©³V ‘| go H$moB© Zht

82. Or B© E gr H$m ghr {dñVm[aV ê$n .............  h¡&

(A) OoZo{Q>H$ B§Or{Z¶[a¨J H¥${f g{‘{V

(B) OoZo{Q>H$ B§Or{Z¶[a¨J AZw‘moXZ g{‘{V

(C) OoZo{Q>H$ B§Or{Z¶[a¨J H¥${f n[afX

(D) Cn`w©³V ‘| go EH$ go A{YH$

(E) Cn`w©³V ‘| go H$moB© Zht
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83. Biopiracy refers to ______.

(A) Exploitation of bio resources without
authentic permission

(B) Use of bio resources with permission

(C) Use of bio patents

(D) More than one of the above

(E) None of the above

84. Golden rice is ______.

(A) Transgenic rice having gene for beta
carotene

(B) Wild variety of rice with yellow-
coloured grains

(C) Long stored rice having yellow
colour tint

(D) More than one of the above

(E) None of the above

85. The first clinical gene therapy was given for
the treatment of_______.

(A) Cancer

(B) AIDS

(C) ADA deficiency

(D) More than one of the above

(E) None of the above

86. A proto toxin is _______.

(A) Primitive toxin

(B) Inactive toxin

(C) Denatured toxin

(D) More than one of the above

(E) None of the above

87. Pyramid of energy is ______.

(A) Upright always

(B) Inverted

(C) Either upright or inverted

(D) More than one of the above

(E) None of the above

88. Fungi and bacteria as decomposers are
_______ .

i) autotrophs

ii) heterotrophs

iii) chemoautotrophs and

iv) saprotrophs

(A) i and ii

(B) ii and iii

(C) ii and iv

(D) More than one of the above

(E) None of the above
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83. ~m¶monmBaogr H$m VmËn¶© .............  go h¡&

(A) àm‘m{UH$ AZw‘{V Ho$ {~Zm O¡d g§gmYZm| H$m XmohZ

(B) O¡d g§gmYZm| H$m AZw‘{V Ûmam à¶moJ

(C) O¡d noQ>|Q> H$m Cn¶moJ

(D) Cn`w©³V ‘| go EH$ go A{YH$

(E) Cn`w©³V ‘| go H$moB© Zht

84. gwZham Mmdb .............  h¡&

(A) Q´>m§gOo{ZH$ Mmdb ‘| ~rQ>m H¡$amoQ>rZ Ho$ {bE OrZ

(B) nrbo a§J Ho$ XmZm| Ho$ gmW Mmdb H$s O§Jbr {H$ñ‘

(C) b§~o g‘¶ go ̂ §S>m[aV nrbo a§J H$m Mmdb

(D) Cn`w©³V ‘| go EH$ go A{YH$

(E) Cn`w©³V ‘| go H$moB© Zht

85. nhbr p³b{ZH$b OrZ Woaonr .............  Ho$ CnMma Ho$
{bE Xr JB© Wr&

(A) H¢$ga

(B) ES²>g

(C) E S>r E H$s H$‘r

(D) Cn`w©³V ‘| go EH$ go A{YH$

(E) Cn`w©³V ‘| go H$moB© Zht

86. EH$ àmoQ>mo Q>m°pŠgZ .............  h¡&

(A) Am{X‘ {df

(B) {ZpîH«$¶ {df

(C) {dH¥$V {df

(D) Cn`w©³V ‘| go EH$ go A{YH$

(E) Cn`w©³V ‘| go H$moB© Zht

87. D$Om© H$m {nam{‘S> .............  hmoVm h¡&

(A) h‘oem grYm

(B) CëQ>m

(C) ¶m Vmo grYm ¶m AëQ>m

(D) Cn`w©³V ‘| go EH$ go A{YH$

(E) Cn`w©³V ‘| go H$moB© Zht

88. O¡d AnKQ>H$ H$dH$ Am¡a ~¡³Q>r[a¶m ............... hmoVo
h¢&

i) ñdnmofr

ii) {df‘nmofr

iii) agmoñdnmofr Ed§

iv) ‘¥Vnmofr

(A) i Am¡a ii

(B) ii  Am¡a iii

(C) ii Am¡a iv

(D) Cn`w©³V ‘| go EH$ go A{YH$

(E) Cn`w©³V ‘| go H$moB© Zht
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89. What percentage of photosynthetically active
radiation is captured by plants in the incident
solar radiation?

(A) 4-6%

(B) 3-5%

(C) 2-10%

(D) More than one of the above

(E) None of the above

90. Which of the following is a functional unit of
an ecosystem?

(A) Decomposition

(B) Nutrient cycling

(C) Productivity

(D) More than one of the above

(E) None of the above

91. Degradation of detritus into simpler organic
substances by the bacterial and fungal
enzymes is called_____.

(A) Fragmentation

(B) Leaching

(C) Catabolism

(D) More than one of the above

(E) None of the above

92. The rate of biomass production is called ___.

(A) Productivity

(B) Stratification

(C) Mineralization

(D) More than one of the above

(E) None of the above

93. During microsporogenesis, meiosis occurs
in ______.

(A) Pollen grains

(B) Microspore tetrads

(C) Microspore mother cells

(D) More than one of the above

(E) None of the above

94. The structure of bilobed anther consists of
______.

(A) 2 thecae, 2 microsporangia

(B) 2 thecae, 4 microsporangia

(C) 4 thecae, 4 microsporangia

(D) More than one of the above

(E) None of the above
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89. nmXnm| Ûmam Amn{VV gm¡a {d{H$aU ‘| àH$me g§íbofH$
ê$n go g{H«$¶ {d{H$aU H$m {H$VZm à{VeV J«hU {H$¶m
OmVm h¡?

(A) 4-6%

(B) 3-5%

(C) 2-10%

(D) Cn`w©³V ‘| go EH$ go A{YH$

(E) Cn`w©³V ‘| go H$moB© Zht

90. {ZåZ{b{IV ‘| go H$m¡Z EH$ nm[apñW{VH$s V§Ì H$s H$m¶m©Ë‘H$
BH$mB© h¡?

(A) AnKQ>Z hmoZm

(B) nmofH$ VËdmo H$m AmdV©Z

(C) CËnmXH$Vm

(D) Cn`w©³V ‘| go EH$ go A{YH$

(E) Cn`w©³V ‘| go H$moB© Zht

91. OrdmUw Am¡a H$dH$ Ho$ {dH$amo Ûmam AnaX H$m gab
H$m~©{ZH$ nXmWmo© ‘| {ZåZrH$aU H$mo .............  H$hm OmVm
h¡&

(A) {dI§S>Z

(B) brqMJ

(C) AnM¶

(D) Cn`w©³V ‘| go EH$ go A{YH$

(E) Cn`w©³V ‘| go H$moB© Zht

92. O¡d ̂ ma CËnmXZ H$s Xa H$mo .............  H$hm OmVm h¡&

(A) CËnmXH$Vm

(B) ñVa-{dÝ¶mg

(C) I{ZOrH$aU

(D) Cn`w©³V ‘| go EH$ go A{YH$

(E) Cn`w©³V ‘| go H$moB© Zht

93. bKw~rOmUwOZZ Ho$ Xm¡amZ, AY©gyÌr{d^mOZ .............
‘| hmoVm h¡&

(A) namJ H$U

(B) MVwï>H$ bKw~rOmUw

(C) bKw~rOmUw ‘mV¥ H$mo{eH$mE±

(D) Cn`w©³V ‘| go EH$ go A{YH$

(E) Cn`w©³V ‘| go H$moB© Zht

94. {Ûnmbr¶ namJH$moe H$s g§aMZm ............. go ~Zr hmoVr
h¡&

(A) 2 àmdaH$, 2 ~rOmUwYmZ

(B) 2 àmdaH$, 4 ~rOmUwYmZ

(C) 4 àmdaH$, 4 ~rOmUwYmZ

(D) Cn`w©³V ‘| go EH$ go A{YH$

(E) Cn`w©³V ‘| go H$moB© Zht
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95. Choose the correct statement.

(A) Cleistogamous flowers always exhibit
autogamy

(B) Chasmogamous flowers always
exhibit geitonogamy

(C) Chasmogamous flowers never exhibit
autogamy

(D) More than one of the above

(E) None of the above

96. In the embryos of a typical dicot and a grass,
true homologous structures are ____ .

(A) Hypocotyl and radicle

(B) Cotyledons and scutellum

(C) Coleorrhiza and coleoptile

(D) More than one of the above

(E) None of the above

97. The coconut water from tender coconut is
________.

(A) Free nuclear embryo

(B) Free nuclear endosperm

(C) Cellular endosperm

(D) More than one of the above

(E) None of the above

98. Pollen grains are well preserved as fossil
because of the presence of______.

(A) Lignocellulose

(B) Sporopollenin

(C) Pectocellulose

(D) More than one of the above

(E) None of the above

99. What are the number of chromosomes
retaining the genes for alpha and beta
thalassemia respectively?

(A) 11 and 16

(B) 16 and 11

(C) 16 and 20

(D) More than one of the above

(E) None of the above

100. During sickle cell anaemia, in what form does
the replacement can be seen in codon?

(A) GAG to GUG

(B) GAG to GCG

(C) GAG to GTG

(D) More than one of the above

(E) None of the above

101. The phenomenon when an organism is
created with an increased abnormal number
of chromosomes is called_______.

(A) Aneuploidy

(B) Polyploidy

(C) Haploidy

(D) More than one of the above

(E) None of the above

102. Pleiotropy can be defined as _______.

(A) When one gene control one trait

(B) When one gene exhibits multiple traits

(C) When multiple genes control multiple
traits

(D) More than one of the above

(E) None of the above
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95. ghr H$WZ MwZ|&

(A) AZwÝ‘rë¶ namJUr nwîn h‘oem ñdH$ ¶w½‘Z àX{e©V
H$aVo h¢

(B) CÝ‘rb namJUr nwîn h‘oem JrQ>moZmoJ¡‘r àX{e©V
H$aVo h¢

(C) CÝ‘rb namJUr nwîn H$^r ^r ñdH$ ¶w½‘Z H$m
àXe©Z Zht H$aVo h¢

(D) Cn`w©³V ‘| go EH$ go A{YH$

(E) Cn`w©³V ‘| go H$moB© Zht

96. EH$ {d{eï> {Û~rOnÌr Am¡a Kmg Ho$ ̂ « yU ‘|, dmñV{dH$
g‘OmVr¶ g§aMZmE± .............  h¢&

(A) ~rOnÌmYma Am¡a ‘ybm§Hw$a

(B) ~rOnÌ Am¡a ñHw$Q>ob‘

(C) ‘ybm§Hw$aMmob Am¡a àmHw$a

(D) Cn`w©³V ‘| go EH$ go A{YH$

(E) Cn`w©³V ‘| go H$moB© Zht

97. H$mo‘b Zm[a¶b H$m Zm[a¶b nmZr .............  hmoVm h¡&

(A) ‘wº$ H|$ÐH$s¶ ̂ «yU

(B) ‘wº$ H|$ÐH$s¶ ̂ «yUnmof

(C) H$mo{eH$s¶ ̂ «yUnmof

(D) Cn`w©³V ‘| go EH$ go A{YH$

(E) Cn`w©³V ‘| go H$moB© Zht

98. namJ H$U .............  H$s CnpñW{V Ho$ H$maU Ordmí‘
Ho$ ê$n ‘| AÀN>r Vah go g§a{jV ahVo h¢&

(A) {b¾mogoë¶wbmoO

(B) ñnmoamonmobo{ZZ

(C) no³Q>mogoë¶wbmoO

(D) Cn`w©³V ‘| go EH$ go A{YH$

(E) Cn`w©³V ‘| go H$moB© Zht

99. Aë’$m Am¡a ~rQ>m W¡bogr{‘¶m Ho$ OrZ H$mo ~ZmE aIZo
dmbo JwUgyÌm| H$s g§»¶m H«$‘e… {H$VZr h¡?

(A) 11 Am¡a 16

(B) 16 Am¡a 11

(C) 16 Am¡a 20

(D) Cn`w©³V ‘| go EH$ go A{YH$

(E) Cn`w©³V ‘| go H$moB© Zht

100. {gH$b gob EZo{‘¶m Ho$ Xm¡amZ H$moS>m°Z ‘| à{VñWmnZ {H$g
ê$n ‘| XoIm Om gH$Vm h¡?

(A) GAG go GUG

(B) GAG go GCG

(C) GAG go GTG

(D) Cn`w©³V ‘| go EH$ go A{YH$

(E) Cn`w©³V ‘| go H$moB© Zht

101. O~ H$moB© Ord JwUgyÌm| H$s ~‹T>r hþB© Agm_mÝ` g§»¶m Ho$
gmW {Z{‘©V hmoVm h¡, dh VÏ¶ .............  H$hbmVm h¡&

(A) AgJw{UVm

(B) ~hþJw{UVm

(C) AJw{UVm

(D) Cn`w©³V ‘| go EH$ go A{YH$

(E) Cn`w©³V ‘| go H$moB© Zht

102. ~hþà^m{dVm H$mo ............. Ho$ ê$n ‘| n[a^m{fV {H$`m
Om gH$Vm h¡&

(A) O~ EH$ OrZ EH$ JwU H$mo {Z¶§{ÌV H$aVm h¡

(B) O~ EH$ OrZ AZoH$ bjU àX{e©V H$aVm h¡

(C) O~ AZoH$ OrZ AZoH$ bjUm| H$mo {Z¶§{ÌV H$aVo
h¢

(D) Cn`w©³V ‘| go EH$ go A{YH$

(E) Cn`w©³V ‘| go H$moB© Zht
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103. The condensation of chromosome is
observed in ________.

(A) Prophase I

(B) Anaphase I

(C) Metaphase I

(D) More than one of the above

(E) None of the above

104. Cells do not further divide at which of the
following stage?

(A) G
1

(B) G
0

(C) G
2

(D) More than one of the above

(E) None of the above

105. The subunits of prokaryotic ribosomes are
______.

(A) 50S + 30S

(B) 60S + 50S

(C) 60S + 40S

(D) More than one of the above

(E) None of the above

106. Which organelle is associated in the
formation of basal granules, cilia and flagella?

(A) Golgi apparatus

(B) Centrosome

(C) Mitochondria

(D) More than one of the above

(E) None of the above

107. Based on the type of pigments plastids can
be classified into ____.

(A) Leucoplast

(B) Chromoplast

(C) Chloroplast

(D) More than one of the above

(E) None of the above

108. Who proposed the fluid mosaic model of
plasma membrane?

(A) Robert Brown

(B) Singer and Nicolson

(C) Schleiden and Schwann

(D) More than one of the above

(E) None of the above

109. The "bakanae' disease of rice is caused
by ________.

(A) Alternaria alternata

(B) Gibberella fujikuroi

(C) Rhizopus nigricans

(D) More than one of the above

(E) None of the above

110. Which of the following is a function of
cytoskeleton in a cell?

(A) Motility

(B) Maintenance of cell’s shape

(C) Support of the organelles

(D) More than one of the above

(E) None of the above
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103. JwUgyÌ H$m g§KZZ .............   ‘| XoIm OmVm h¡&

(A) àmo‹’o$‹O I

(B) EZm‹’o$‹O>> I

(C) ‘oQ>m‹’o$‹O I

(D) Cn`w©³V ‘| go EH$ go A{YH$

(E) Cn`w©³V ‘| go H$moB© Zht

104. {ZåZ{b{IV ‘| go {H$g MaU ‘| H$mo{eH$mE± AmJo {d^m{OV
Zht hmoVr h¡?

(A) G1

(B) G0

(C) G2

(D) Cn`w©³V ‘| go EH$ go A{YH$

(E) Cn`w©³V ‘| go H$moB© Zht

105. àm o̧$ÝÐH$s amB~mogmo‘ H$s CnBH$mB¶m± .............  h¢&

(A) 50S + 30S

(B) 60S + 50S

(C) 60S + 40S

(D) Cn`w©³V ‘| go EH$ go A{YH$

(E) Cn`w©³V ‘| go H$moB© Zht

106. ~ogb J«¡Ý¶yb, {g{b¶m Am¡a âb¡Oobm Ho$ {Z‘m©U ‘| H$m¡Z
gm A§JH$ Ow‹S>m hþAm h¡?

(A) Jm°ëOrH$m¶

(B) g|Q´>mogmo‘

(C) ‘mBQ>moH$m°pÝŚ>¶m

(D) Cn`w©³V ‘| go EH$ go A{YH$

(E) Cn`w©³V ‘| go H$moB© Zht

107. dU©H$ Ho$ àH$ma Ho$ AmYma na ßbmpñQ>S> H$mo .............  ‘|
dJuH¥$V {H$¶m Om gH$Vm h¡&

(A) ë¶yH$moßbmñQ>

(B) H«$mo‘moßbmñQ>

(C) ³bmoamoßbmñQ>

(D) Cn`w©³V ‘| go EH$ go A{YH$

(E) Cn`w©³V ‘| go H$moB© Zht

108. ßbm‹Á‘m {P„r H$m Ðd ‘mo‹OoH$ ‘m°S>b {H$gZo àñVm{dV
{H$¶m?>>

(A) am°~Q>© ~«mCZ

(B) Jm¶H$ Am¡a {ZH$mobgZ

(C) íboS>oZ Am¡a ídmZ

(D) Cn`w©³V ‘| go EH$ go A{YH$

(E) Cn`w©³V ‘| go H$moB© Zht

109. ""~¡Ho$Z"" YmZ Ho$ nm¡Y H$s ~r‘mar h¡ Omo .............  Ho$
H$maU hmoVr h¡&

(A) AëQ>aZo[a¶m AëQ>aZoQ>m

(B) {O~oaobm ’y$OrH$moamB

(C) amB‹Omong {Z{J«Ho$Ýg >

(D) Cn`w©³V ‘| go EH$ go A{YH$

(E) Cn`w©³V ‘| go H$moB© Zht

110. {ZåZ{b{IV ‘| go H$m¡Z gm H$mo{eH$mn§Oa H$m H$m¶© h¡?

(A) J{VerbVm

(B) H$mo{eH$m AmH$ma H$m aIaImd

(C) H$mo{eH$m§Jm| H$m ghm¶H$

(D) Cn`w©³V ‘| go EH$ go A{YH$

(E) Cn`w©³V ‘| go H$moB© Zht
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111. Which of the following is absent in closed
vascular bundles?

(A) Conjunctive tissue

(B) Cambium

(C) Pith

(D) More than one of the above

(E) None of the above

112. Cortex is the region found between ____.

(A) Epidermis and endodermis

(B) Endodermis and pith

(C) Endodermis and vascular bundle

(D) More than one of the above

(E) None of the above

113. Which of the following tissues are involved
in secondary growth of dicotyledonous
plants?

(A) Lateral meristem

(B) Vascular cambium

(C) Cork cambium

(D) More than one of the above

(E) None of the above

114. Which of the following structure permits the
exchange of gases between the outer
atmosphere and the internal tissue of the
stem?

(A) Lenticels

(B) Cambium

(C) Stomata

(D) More than one of the above

(E) None of the above

115. Which of the following does not conduct
water?

(A) Heartwood

(B) Sapwood

(C) Alburnum

(D) More than one of the above

(E) None of the above

116. In grasses, there are certain epidermal large,
empty, colourless cells along the veins are
called _____.

(A) Palisade cells

(B) Sclerenchyma cells

(C) Bulliform cells

(D) More than one of the above

(E) None of the above
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111. ~§X g§dhZ nybm| ‘| {ZåZ{b{IV ‘| go H$m¡Z AZwnpñWV
h¡?

(A) g§¶moOr D$VH$

(B) EYm

(C) ‘ÁOm

(D) Cn`w©³V ‘| go EH$ go A{YH$

(E) Cn`w©³V ‘| go H$moB© Zht

112. dëHw$Q> .............  Ho$ ~rM nm¶m OmZo dmbm joÌ h¡&

(A) A{YM‘© Am¡a A§VñËdMm

(B) A§VñËdMm Am¡a ‘ÁOm

(C) A§VñËdMm Am¡a g§dhZ nyb

(D) Cn`w©³V ‘| go EH$ go A{YH$

(E) Cn`w©³V ‘| go H$moB© Zht

113. {ZåZ{b{IV ‘| go H$m¡Z gm D$VH$ {Û~rOnÌr nmXnm| H$s
{ÛVr¶H$ d¥{Õ ‘| em{‘b hmoVm h¡?

(A) nmíd© {d^Á¶moVH$

(B) nybr¶ EYm

(C) H$mJ EYm

(D) Cn`w©³V ‘| go EH$ go A{YH$

(E) Cn`w©³V ‘| go H$moB© Zht

114. {ZåZ{b{IV ‘| go H$m¡Zgr g§aMZm ~mhar dm¶w‘§S>b Am¡a
VZo Ho$ Am§V[aH$ D$VH$ Ho$ ~rM J¡gm| Ho$ AmXmZ-àXmZ H$mo
àXmZ H$aVm h¡?

(A) dmVaÝY

(B) EYm

(C) a§Y«

(D) Cn`w©³V ‘| go EH$ go A{YH$

(E) Cn`w©³V ‘| go H$moB© Zht

115. {ZåZ{b{IV ‘| go H$m¡Z Ob H$m g§MmbZ Zht H$aVm h¡?

(A) AÝV… H$mð>

(B) agH$mð>

(C) Eoë~Z©‘

(D) Cn`w©³V ‘| go EH$ go A{YH$

(E) Cn`w©³V ‘| go H$moB© Zht

116. Kmgm| ‘|, {eamAm| Ho$ gmW Hw$N> ~møËdMm H$mo{eH$mE§ Omo
{H$ d¥hX, Imbr, a§JhrZ hmoVr h¢ {OÝh| .............  H$hm
OmVm h¡&

(A) Iå^ H$mo{eH$mE§

(B) Ðm‹T>moÎmH$ H$mo{eH$mE§

(C) ~w{b’$m‘© H$mo{eH$mE§

(D) Cn`w©³V ‘| go EH$ go A{YH$

(E) Cn`w©³V ‘| go H$moB© Zht
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117. In C
4
 plants RuBisCO is present in ____.

(A) Mesophyll cells

(B) Epidermal cells

(C) Bundle sheath cells

(D) More than one of the above

(E) None of the above

118. Which of the following is a product of light
reaction of photosynthesis?

(A) NADPH

(B) Oxygen

(C) ATP

(D) More than one of the above

(E) None of the above

119. How many turns of Calvin cycle are required
for the formation of one molecule of glucose?

(A) 8

(B) 6

(C) 4

(D) More than one of the above

(E) None of the above

120. Before its entry into Kreb cycle, pyruvic acid
molecule gets converted into ______ .

(A) Citric acid

(B) Oxaloacetic acid

(C) Acetyl CoA

(D) More than one of the above

(E) None of the above

121. Decarboxylation occurs during ____ .

(A) Fermentation

(B) TCA cycle

(C) Electron Transport System

(D) More than one of the above

(E) None of the above

122. “Cry protein” coded by gene CryIAb
controls _____ .

(A) Cotton bollworm

(B) Tobacco budworm

(C) Corn borer

(D) More than one of the above

(E) None of the above
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117. C4 nmXnm| ‘| ê${~ñH$mo ............. ‘| CnpñWV hmoVm h¡&

(A) ‘Ü¶moÎmH$ H$mo{eH$mE§

(B) ~møËdMm H$mo{eH$mE§

(C) nybmÀN>X H$mo{eH$mE§

(D) Cn`w©³V ‘| go EH$ go A{YH$

(E) Cn`w©³V ‘| go H$moB© Zht

118. {ZåZ{b{IV ‘| go H$m¡Z àH$me g§íbofU H$s àH$me
à{V{H«$¶m  H$m CËnmX h¡?

(A) EZ E S>r nr EM

(B) Am°³grOZ

(C) E Q>r nr

(D) Cn`w©³V ‘| go EH$ go A{YH$

(E) Cn`w©³V ‘| go H$moB© Zht

119. ½byH$moO Ho$ EH$ AUw Ho$ {Z‘m©U Ho$ {bE Ho$pëdZ MH«$ Ho$
{H$VZo MH«$ Amdí¶H$ h¢?

(A) 8

(B) 6

(C) 4

(D) Cn`w©³V ‘| go EH$ go A{YH$

(E) Cn`w©³V ‘| go H$moB© Zht

120. H«o$~ MH«$ ‘| àdoe go nhbo, nmBé{dH$ E{gS> AUw
.............  ‘| n[ad{V©V hmo OmVm h¡&

(A) gmB{Q´>H$ E{gS>

(B) Am°³gmbmoE{g{Q>H$ Aåb

(C) E{gQ>mBb H$moE§OmB‘ E

(D) Cn`w©³V ‘| go EH$ go A{YH$

(E) Cn`w©³V ‘| go H$moB© Zht

121. S>rH$m~m©p³gH$aU .............  Ho$ Xm¡amZ hmoVm h¡&

(A) {H$ÊdZ

(B) Q>r gr E MH«$

(C) Bbo³Q´>m°Z n[adhZ V§Ì

(D) Cn`w©³V ‘| go EH$ go A{YH$

(E) Cn`w©³V ‘| go H$moB© Zht

122. OrZ H«$mB© I E~r Ûmam H$mo{S>V ""H«$mB© àmoQ>rZ'' ........ H$mo
{Z¶§{ÌV H$aVm h¡&

(A) H$nmg Ho$ ‘wHw$b H¥${‘

(B) Vå~mHy$ B„r

(C) ‘³H$m N>oXH$

(D) Cn`w©³V ‘| go EH$ go A{YH$

(E) Cn`w©³V ‘| go H$moB© Zht
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123. The term systematics refers to ____.

(A) Identification and study of organ
system of plants and animals

(B) Identification and preservation of
plants and animals

(C) Diversity of kinds of organisms and
their relationship

(D) More than one of the above

(E) None of the above

124. Biogas is produced by which of the following
microorganisms?

(A) Mycoplasma

(B) Archaebacteria

(C) Cyanobacteria

(D) More than one of the above

(E) None of the above

125. Which of the following bacteria can fix
atmospheric nitrogen?

(A) Anabaena

(B) Nostoc

(C) Oscillatoria

(D) More than one of the above

(E) None of the above

126. Contagium vivum fluidum was proposed
by ______.

(A) D.J. Ivanowsky

(B) M.W. Beijerinek

(C) W. M. Stanley

(D) More than one of the above

(E) None of the above

127. _____ are known as ‘fungi imperfecti’.

(A) Phycomycetes

(B) Ascomycetes

(C) Deuteromycetes

(D) More than one of the above

(E) None of the above

128. The karyogamy is _____.

(A) Fusion of two nuclei

(B) Fusion of protoplasm

(C) Fusion of two vegetative cells

(D) More than one of the above

(E) None of the above
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123. {gñQ>‘¡{Q>³g (dJuH$aU nÕ{V) eãX _______ H$mo
g§X{^©V H$aVm h¡&

(A) nm¡Ym| Ed§ OÝVwAm| Ho$ A§J V§Ì H$s nhMmZ Ed§
AÜ¶¶Z

(B) nm¡Ym| Am¡a OmZdam| H$s nhMmZ Am¡a g§ajU

(C) Ordm| Ho$ àH$ma H$s {d{dYVm Am¡a CZHo$ g§~§Y

(D) Cn`w©³V ‘| go EH$ go A{YH$

(E) Cn`w©³V ‘| go H$moB© Zht

124. ~m¶moJ¡g {ZåZ{b{IV ‘| go {H$Z gyú‘Ordm| Ûmam {Z{‘©V
hmoVr h¡?

(A) ‘mBH$moßbmÁ‘m

(B) AmaHo$~¡³Q>r[a¶m

(C) gmBZmo~¡³Q>rar¶m

(D) Cn`w©³V ‘| go EH$ go A{YH$

(E) Cn`w©³V ‘| go H$moB© Zht

125. {ZåZ{b{IV ‘| go H$m¡Z gm OrdmUw dm¶w‘§S>br¶ ZmBQ́>moOZ
H$mo pñWa H$a gH$Vm h¡?

(A) EZm~¡Zm

(B) ZmoñQ>m°H$

(C) Am°ñH$sboQ>mo[a¶m

(D) Cn`w©³V ‘| go EH$ go A{YH$

(E) Cn`w©³V ‘| go H$moB© Zht

126. H§$Q>o{O¶‘ dmBZ‘ âbw¶BS>‘ .............  Ûmam àñVm{dV
{H$¶m J¶m Wm&

(A) S>r.Oo. B~mZmodñH$s

(B) E‘.S>ãë¶y. ~oOo[aZoH$

(C) S>ãë¶y.E‘.ñQ>mZbo

(D) Cn`w©³V ‘| go EH$ go A{YH$

(E) Cn`w©³V ‘| go H$moB© Zht

127. .............  H$mo "AnyU© H$dH$' H$hm OmVm h¡&

(A) ’$mBH$mo‘mB{gQ>rg

(B) EñH$mo‘mB{gQ>rg

(C) S>¶y{Q>amo‘mB{gQ>rg

(D) Cn`w©³V ‘| go EH$ go A{YH$

(E) Cn`w©³V ‘| go H$moB© Zht

128. H|$Ð g§b¶Z .............  h¡&

(A) Xmo H|$ÐH$m| H$m g§b¶Z

(B) àmoQ>moßbm‹Á‘ H$m g§b¶Z >

(C) Xmo H$m{¶H$ H$mo{eH$mAm| H$m g§b¶Z

(D) Cn`w©³V ‘| go EH$ go A{YH$

(E) Cn`w©³V ‘| go H$moB© Zht
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129. Which of the following belongs to
Chlorophyceae?

(A) Chara

(B) Volvox

(C) Ulothrix

(D) More than one of the above

(E) None of the above

130. Which of the following group is called as
amphibians of the plant kingdom?

(A) Lichens

(B) Bryophytes

(C) Algae

(D) More than one of the above

(E) None of the above

131. Which of the following feature is/are true
about Sphagnum?

(A) Archegonium is flask shaped

(B) Antheridium produced biflagellate
antherozoids

(C) Produce multicellular body called a
sporophyte

(D) More than one of the above

(E) None of the above

132. Which of the following is not an example of
a moss?

(A) Polytrichum

(B) Funaria

(C) Marchantia

(D) More than one of the above

(E) None of the above

133. Match the following.

a) Green algae i) Spirogyra

b) Brown algae ii) Laminaria

c) Red algae iii) Porphyra

(A) a-i, b-iii, c-ii

(B) a-i, b-ii, c-iii

(C) a-ii, b-iii, c-i

(D) More than one of the above

(E) None of the above

134. Which of the following statement is not true
about pteridophytes?

(A) Water is required for the transfer of
antherozoids

(B) Undifferentiated vascular tissue

(C) Female gametophyte retain on parent
sporophyte

(D) More than one of the above

(E) None of the above
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129. {ZåZ{b{IV ‘| go H$m¡Z ³bmoamo’$mBgr go g§~§{YV h¡?

(A) H$mam

(B) dm°bdm°³g

(C) ¶ybmo{W«³g

(D) Cn`w©³V ‘| go EH$ go A{YH$

(E) Cn`w©³V ‘| go H$moB© Zht

130. {ZåZ{b{IV ‘| go {H$g g‘yh H$mo nmXn OJV H$m
ObñWbMa H$hm OmVm h¡?

(A) bmBHo$Z

(B) ~«m¶mo’$mBQ>

(C) e¡dmb

(D) Cn`w©³V ‘| go EH$ go A{YH$

(E) Cn`w©³V ‘| go H$moB© Zht

131. ñ’o$JZ‘ Ho$ ~mao ‘| {ZåZ{b{IV ‘| go H$m¡Z gr {deofVm
gË¶ h¡?

(A) órYmZr âbmñH$ Ho$ AmH$ma H$s hmoVr h¡

(B) nw§YmZr Ûmam {ÛH$em{^H$ nw‘§J CËnÞ H$aVm h¡

(C) ~rOmUw-CX{^X (ñnmoamo’$mBQ>) Zm‘H$ ~hþH$mo{eH$s¶
g§aMZm H$m {Z‘m©U H$aVo h¢

(D) Cn`w©³V ‘| go EH$ go A{YH$

(E) Cn`w©³V ‘| go H$moB© Zht

132. {ZåZ{b{IV ‘| go H$m¡Z gm ‘m°g H$m EH$ CXmhaU Zht h¡?

(A) nmo{bQ>́mBH$mo‘

(B) â¶yZo[a¶m

(C) ‘maH¢${eAm

(D) Cn`w©³V ‘| go EH$ go A{YH$

(E) Cn`w©³V ‘| go H$moB© Zht

133. {ZåZ{b{IV H$mo {‘bmE§&

a) ham e¡dmb i) ñnmBamoJm¶am

b) ^yam e¡dmb ii) b¡{‘Zo[a¶m

c) bmb e¡dmb, ~Zm_ iii) nmoa’$m¶am

(A) a-i, b-iii, c-ii

(B) a-i, b-ii, c-iii

(C) a-ii, b-iii, c-i

(D) Cn`w©³V ‘| go EH$ go A{YH$

(E) Cn`w©³V ‘| go H$moB© Zht

134. {ZåZ{b{IV ‘| go H$m¡Z gm H$WZ Q>¡[aS>mo’$mBQ> Ho$ ~mao ‘|
gË¶ Zht h¡?

(A) nw§‘Uw Ho$ ñWmZm§VaU Ho$ {bE nmZr H$s Amdí¶H$Vm
hmoVr h¡

(B) A{d^m{OV g§dhZr D$VH$

(C) ‘mXm ¶w½‘H$mo{ØX n¡V¥H$ ñnmoamo’$mBQ> go Ow‹S>o ahVr
h¡

(D) Cn`w©³V ‘| go EH$ go A{YH$

(E) Cn`w©³V ‘| go H$moB© Zht
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135. Which of the following is an incorrect match?

(A) Psilopsida-Pteris

(B) Pteropsida- Adiantum

(C) Lycopsida- Selaginella

(D) More than one of the above

(E) None of the above

136. Choose the correct match.

(A) Pinus - mycorrhiza

(B) Cycas - coralloid roots

(C) Cycas - pinnate leaves

(D) More than one of the above

(E) None of the above

137. The giant redwood tree Sequoia is a/an ___.

(A) Pteridophyte

(B) Angiosperm

(C) Gymnosperm

(D) More than one of the above

(E) None of the above

138. Which of the following possess male cones
and megasporophylls on different trees?

(A) Pinus

(B) Cycas

(C) All conifers

(D) More than one of the above

(E) None of the above

139. The members of phycomycetes are
found in ____.

(A) On decaying wood

(B) As obligate parasite on plants

(C) Aquatic habitats

(D) More than one of the above

(E) None of the above

140. Which of the following is found as parasitic
fungi on mustard?

(A) Mucor

(B) Rhizopus

(C) Albugo

(D) More than one of the above

(E) None of the above

141. Which of the following plant disease is
caused due to Puccinia?

(A) Wheat rust

(B) Linseed rust

(C) Wilt disease of pigeon pea

(D) More than one of the above

(E) None of the above

142. Which of the following plants is with
hallucinogenic properties?

(A) Atropa belladonna

(B) Datura

(C) Erythroxylum coca

(D) More than one of the above

(E) None of the above
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135. {ZåZ{b{IV ‘| go H$m¡Z gm {‘bmZ JbV h¡?

(A) gmBbmon{gS>m-Q>¡[ag

(B) {Q>amon{gS>m-E{S>E§Q>‘

(C) bmBH$mon{gS>m-{gb¡{OZobm

(D) Cn`w©³V ‘| go EH$ go A{YH$

(E) Cn`w©³V ‘| go H$moB© Zht

136. ghr {‘bmZ MwZ|&

(A) nmBZg-H$dH$ ‘yb

(B) gmBH¡$g-àdmg ‘yb

(C) gmBH¡$g -{nÀN>mH$ma n{Îm¶m±

(D) Cn`w©³V ‘| go EH$ go A{YH$

(E) Cn`w©³V ‘| go H$moB© Zht

137. {demb aoS>dwS> no‹S> {gH$mo¶m EH$ .............  h¡&

(A) Q>¡[aS>mo’$mBQ>

(B) E§{OAmoñn‘© / Amd¥V~rOr

(C) {OåZmoñn‘©/ AZmd¥V~rOr

(D) Cn`w©³V ‘| go EH$ go A{YH$

(E) Cn`w©³V ‘| go H$moB© Zht

138. {ZåZ{b{IV ‘o go {H$g‘| no‹S>m| na Za e§Hw$ Am¡a Jwé
~rOmUwYm{ZH$ AbJ AbJ no‹S>m| na nmE OmVo h¢?

(A) nmBZg

(B) gmBH¡$g

(C) g^r e§³dmH$ma

(D) Cn`w©³V ‘| go EH$ go A{YH$

(E) Cn`w©³V ‘| go H$moB© Zht

139. ’$mBH$mo‘mB{gQ>rg Ho$ gXñ¶ .............  ‘| nmE OmVo h¢&

(A) Jbr-gbr bH$‹S>r na

(B) nmXnm| na A{dH$ënr naOrdr Ho$ ê$n ‘|

(C) Obr¶ Amdmgm|

(D) Cn`w©³V ‘| go EH$ go A{YH$

(E) Cn`w©³V ‘| go H$moB© Zht

140. {ZåZ{b{IV ‘| go H$m¡Z gagm| na naOrdr H$dH$ Ho$ ê$n
‘| nm¶m OmVm h¡?

(A) å¶yH$a

(B) amBOmong

(C) Eë~yJmo

(D) Cn`w©³V ‘| go EH$ go A{YH$

(E) Cn`w©³V ‘| go H$moB© Zht

141. {ZåZ{b{IV ‘| go H$m¡Z gm nm¡Yo H$m amoJ np³g{Z¶m Ho$
H$maU hmoVm h¡?

(A) Joh±ÿ ‘| {H$Å> amoJ

(B) Abgr ‘| {H$Å> amoJ

(C) Aaha H$m ‘waPmZm amoJ

(D) Cn`w©³V ‘| go EH$ go A{YH$

(E) Cn`w©³V ‘| go H$moB© Zht

142. {ZåZ{b{IV ‘| go H$m¡Z gm nmXn {d^«‘ JwUm| dmbm h¡?

(A) EQ´>mo’$m ~oboS>moZm

(B) YVyam

(C) E[aW«mo‹OmBb‘ H$moH$m >

(D) Cn`w©³V ‘| go EH$ go A{YH$

(E) Cn`w©³V ‘| go H$moB© Zht
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143. Which of the following drugs is obtained
from poppy plants?

(A) Hashish

(B) Cocaine

(C) Morphine

(D) More than one of the above

(E) None of the above

144. In a floral formula calyx are represented
by _______ .

(A) K

(B) C

(C) P

(D) More than one of the above

(E) None of the above

145. The actinomorphic and zygomorphic nature
of flowers is represented in____.

(A) Floral formula

(B) Floral diagram

(C) Phyllotaxy

(D) More than one of the above

(E) None of the above

146. The important character of flowers in
Solanaceae family is ________.

(A) The ovary is trilocular with many ovules

(B) The ovary is unilocular with many
ovules

(C) The ovary is obligatory placed and
placenta is swollen

(D) More than one of the above

(E) None of the above

147. Colchicine is obtained from a plant belonging
to family _________.

(A) Solanaceae

(B) Liliaceae

(C) Fabaceae

(D) More than one of the above

(E) None of the above

148. The tepals are found in the flowers of
______family.

(A) Fabaceae

(B) Solanaceae

(C) Liliaceae

(D) More than one of the above

(E) None of the above

149. Which of the following PGR breaks seed
dormancy?

(A) Ethylene

(B) Abscisic acid

(C) Auxins

(D) More than one of the above

(E) None of the above

150. The Indian botanical garden is situated at
_______.

(A) Kolkata

(B) Lucknow

(C) Delhi

(D) More than one of the above

(E) None of the above
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143. {ZåZ{b{IV ‘| go H$m¡Z gr Am¡f{Y nmoñV Ho$ nm¡Ym| go àmá
H$s OmVr h¡?

(A) here

(B) H$mo{H$Z

(C) ‘m°{’©$Z

(D) Cn`w©³V ‘| go EH$ go A{YH$

(E) Cn`w©³V ‘| go H$moB© Zht

144. nwînrgyÌ ‘| ~møXb H$mo .............  Ho$ Ûmam Xem©¶m OmVm
h¡&

(A) K

(B) C

(C) P

(D) Cn`w©³V ‘| go EH$ go A{YH$

(E) Cn`w©³V ‘| go H$moB© Zht

145. nwînm| H$s {ÌÁ¶ g‘{‘{V Am¡a EH$ ì¶mg g‘{‘{V àH¥${V
H$mo .............  ‘| Xem©`m OmVm h¡&

(A) nwînrgyÌ

(B) nwînr {MÌ

(C) nU©{dÝ¶mg

(D) Cn`w©³V ‘| go EH$ go A{YH$

(E) Cn`w©³V ‘| go H$moB© Zht

146. gm¡boZogr Hw$b ‘| nwînm| H$m ‘hËdnyU© JwU ............ h¡&

(A) A§S>me¶ {ÌH$moð>H$s¶ hmoVm h¡ {Og‘| H$B© ~rOm§S>
hmoVo h¡

(B) A§S>me¶ EH$H$moð>H$s¶ hmoVm h¡ {Og‘| H$B© ~rOm§S>
hmoVo h¢

(C) A§S>me¶ {VaN>r Ed§ ’y$bm hþAm ~rOmÊS>mgZ

(D) Cn`w©³V ‘| go EH$ go A{YH$

(E) Cn`w©³V ‘| go H$moB© Zht

147. H$moëH$sgmBZ ............. Hw$b go g§§§§~§{YV nmXn go àmá
H$s OmVr h¡&

(A) gm¡boZogr

(B) {b{b¶ogr

(C) ’¡$~ogr

(D) Cn`w©³V ‘| go EH$ go A{YH$

(E) Cn`w©³V ‘| go H$moB© Zht

148. n[aXb .............  Hw$b Ho$ nwînm| ‘| nmE OmVo h¢&

(A) ’¡$~ogr

(B) gm¡boZogr

(C) {b{b¶ogr

(D) Cn`w©³V ‘| go EH$ go A{YH$

(E) Cn`w©³V ‘| go H$moB© Zht

149. {ZåZ{b{IV ‘| go H$m¡Z gm nr Or Ama ~rO àgw{á H$mo
Vmo‹S>Vm h¡?

(A) EWr{bZ

(B) E~{g{gH$ Aåb

(C) Am°p³gÝg

(D) Cn`w©³V ‘| go EH$ go A{YH$

(E) Cn`w©³V ‘| go H$moB© Zht

150. ^maVr` dZñn{V CÚmZ ........... _| pñWV h¡ &

(A) H$mobH$mVm

(B) bIZD$

(C) {Xëbr

(D) Cn`w©³V ‘| go EH$ go A{YH$

(E) Cn`w©³V ‘| go H$moB© Zht
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SPACE FOR ROUGH WORK / aµ\$ H$m`© Ho$ {bE ñWmZ



àíZ-nwpñVH$m
^mfm, gm‘mÝ¶ AÜ¶¶Z Am¡a dZñn{V {dkmZ

 g‘¶ : 2:30 KÊQ>o nyUmªH$ : 150

13/HV/M-2024-16

àíZm| Ho$ CÎma XoZo go nhbo ZrMo {bIo AZwXoem| H$mo Ü¶mZ go n‹T> b|&

E
nwpñVH$m l§¥Ibm

‘hÎdnyU© AZwXoe>

1. ¶h àíZ-nwpñVH$m VrZ ^mJm| ‘| {d^m{OV h¡ - ^mJ-I, ^mJ-II Ed§ ^mJ-III, ^mJ-I ‘| ^mfm (Ah©Vm)^mfm (Ah©Vm)^mfm (Ah©Vm)^mfm (Ah©Vm)^mfm (Ah©Vm) Ho$ àíZ h¢, ^mJ-II ‘|
gm‘mÝ¶ AÜ¶¶Zgm‘mÝ¶ AÜ¶¶Zgm‘mÝ¶ AÜ¶¶Zgm‘mÝ¶ AÜ¶¶Zgm‘mÝ¶ AÜ¶¶Z Ho$ àíZ h¢ VWm ^mJ-III ‘| dZñn{V {dkmZdZñn{V {dkmZdZñn{V {dkmZdZñn{V {dkmZdZñn{V {dkmZ Ho$ àíZ h¢&

2. ^mJ-^mJ-^mJ-^mJ-^mJ-I, ^mfm (Ah©Vm)^mfm (Ah©Vm)^mfm (Ah©Vm)^mfm (Ah©Vm)^mfm (Ah©Vm) ‘| àíZ g§»¶m 1 go 30 VH$ àíZ h¢& ^mJ-^mJ-^mJ-^mJ-^mJ-I _| A§J« oOr ^mfmA§J« oOr ^mfmA§J« oOr ^mfmA§J« oOr ^mfmA§J«oOr ^mfm _| àíZ g§»`m E-1 go E-8 VH$ (g^r Ho$
{bE g_mZ), {hÝXr ^mfm{hÝXr ^mfm{hÝXr ^mfm{hÝXr ^mfm{hÝXr ^mfm _| àíZ g§»`m H-9 go H-30 VH$, CXÿ© ^mfmCXÿ© ^mfmCXÿ© ^mfmCXÿ© ^mfmCXÿ© ^mfm _| àíZ g§»`m U-9 go U-30 VH$ VWm ~m§½bm ^mfm~m§½bm ^mfm~m§½bm ^mfm~m§½bm ^mfm~m§½bm ^mfm _|
àíZ g§»`m B-9 go B-30 VH$ h¢ (Aä`Wu H$mo VrZ ^mfmAm| _| go {H$gr EH$ ^mfm Ho$ àíZ MwZZo h¢)& ^mJ-^mJ-^mJ-^mJ-^mJ-II ‘| àíZ g§»¶m 31 go 70
VWm ^mJ-^mJ-^mJ-^mJ-^mJ-III ‘| àíZ g§»¶m 71 go 150 VH$ h¢& (^mJ-^mJ-^mJ-^mJ-^mJ-II VWm ^mJ-^mJ-^mJ-^mJ-^mJ-III _| àíZ Am¡a CZHo$ CÎma A§J«oOr Ed§ {hÝXr ‘| ‘w{ÐV h¢)

3. g^rg^rg^rg^rg^r àíZm| H$m A§H$ g‘mZ h¢&
4. àíZm| Ho$ CÎma XoZo Ho$ {bE AmnH$mo CÎma nÌH$ àíZ nwpñVH$m Ho$ AÝXa {X`m J`m h¡& AnZo CÎma nÌH$ Ho$ {ZYm©[aV ñWmZ _| AnZmnZo CÎma nÌH$ Ho$ {ZYm©[aV ñWmZ _| AnZmnZo CÎma nÌH$ Ho$ {ZYm©[aV ñWmZ _| AnZmnZo CÎma nÌH$ Ho$ {ZYm©[aV ñWmZ _| AnZmnZo CÎma nÌH$ Ho$ {ZYm©[aV ñWmZ _| AnZm

AZ wH « $_m §H $  {bIo Ed §  H w $Q >~Õ H$a |  VWm AÝ` {ddaU Adí` {bI| AÝ`Wm AmnH$m CÎma nÌH$ Om ±Mm Zht Om` oJm&AZ wH « $_m §H $  {bIo Ed §  H w $Q >~Õ H$a |  VWm AÝ` {ddaU Adí` {bI| AÝ`Wm AmnH$m CÎma nÌH$ Om ±Mm Zht Om` oJm&AZ wH « $_m §H $  {bIo Ed §  H w $Q >~Õ H$a |  VWm AÝ` {ddaU Adí` {bI| AÝ`Wm AmnH$m CÎma nÌH$ Om ±Mm Zht Om` oJm&AZ wH « $_m §H $  {bIo Ed §  H w $Q >~Õ H$a |  VWm AÝ` {ddaU Adí` {bI| AÝ`Wm AmnH$m CÎma nÌH$ Om ±Mm Zht Om` oJm&AZ wH « $_m §H $  {bIo Ed §  H w $Q >~Õ H$a |  VWm AÝ` {ddaU Adí` {bI| AÝ`Wm AmnH$m CÎma nÌH$ Om ±Mm Zht Om` oJm&
5. narjm Amaå^ hm oV o hr Amn AnZr àíZ-nwpñVH$m Ed§ g§b½Z CÎma nwpñVH$m H$s Om±M H$a XoI b| {H$ àíZ-nwpñVH$m Ho$ D$nanarjm Amaå^ hm oV o hr Amn AnZr àíZ-nwpñVH$m Ed§ g§b½Z CÎma nwpñVH$m H$s Om±M H$a XoI b| {H$ àíZ-nwpñVH$m Ho$ D$nanarjm Amaå^ hm oV o hr Amn AnZr àíZ-nwpñVH$m Ed§ g§b½Z CÎma nwpñVH$m H$s Om±M H$a XoI b| {H$ àíZ-nwpñVH$m Ho$ D$nanarjm Amaå^ hm oV o hr Amn AnZr àíZ-nwpñVH$m Ed§ g§b½Z CÎma nwpñVH$m H$s Om±M H$a XoI b| {H$ àíZ-nwpñVH$m Ho$ D$nanarjm Amaå^ hm oV o hr Amn AnZr àíZ-nwpñVH$m Ed§ g§b½Z CÎma nwpñVH$m H$s Om±M H$a XoI b| {H$ àíZ-nwpñVH$m Ho$ D$na

Xm¶t Amoa ‘w{ÐV l¥ §Ibm Ed§ CÎma nwpñVH$m na _w{ÐV l¥ §Ibm g_mZ h¡& H¥$n`m `h ^r Om±M b| {H$ nwpñVH$m _| a µ\$ H$m`© hoVwXm¶t Amoa ‘w{ÐV l¥ §Ibm Ed§ CÎma nwpñVH$m na _w{ÐV l¥ §Ibm g_mZ h¡& H¥$n`m `h ^r Om±M b| {H$ nwpñVH$m _| a µ\$ H$m`© hoVwXm¶t Amoa ‘w{ÐV l¥ §Ibm Ed§ CÎma nwpñVH$m na _w{ÐV l¥ §Ibm g_mZ h¡& H¥$n`m `h ^r Om±M b| {H$ nwpñVH$m _| a µ\$ H$m`© hoVwXm¶t Amoa ‘w{ÐV l¥ §Ibm Ed§ CÎma nwpñVH$m na _w{ÐV l¥ §Ibm g_mZ h¡& H¥$n`m `h ^r Om±M b| {H$ nwpñVH$m _| a µ\$ H$m`© hoVwXm¶t Amoa ‘w{ÐV l¥ §Ibm Ed§ CÎma nwpñVH$m na _w{ÐV l¥ §Ibm g_mZ h¡& H¥$n`m `h ^r Om±M b| {H$ nwpñVH$m _| a µ\$ H$m`© hoVw
X m o  n ¥ð m | >  (n ¥ð g § .  Xm o  n ¥ð m | >  (n ¥ð g § .  Xm o  n ¥ð m | >  (n ¥ð g § .  Xm o  n ¥ð m | >  (n ¥ð g § .  Xm o  n ¥ð m | >  (n ¥ð g § .  46  Am ¡ a   Am ¡ a   Am ¡ a   Am ¡ a   Am ¡ a  47) g{hV n y a o  )  g{hV n y a o  )  g{hV n y a o  )  g{hV n y a o  )  g{hV n y a o  48  ‘ w {ÐV n ¥ð >  h ¢  Am ¡ a  H$ m o B ©  àíZ ¶m n ¥ð >  {~Zm N >nm h þAm ¶m ’$Q > m  h þAm ‘ w {ÐV n ¥ð >  h ¢  Am ¡ a  H$ m o B ©  àíZ ¶m n ¥ð >  {~Zm N >nm h þAm ¶m ’$Q > m  h þAm ‘ w {ÐV n ¥ð >  h ¢  Am ¡ a  H$ m o B ©  àíZ ¶m n ¥ð >  {~Zm N >nm h þAm ¶m ’$Q > m  h þAm ‘ w {ÐV n ¥ð >  h ¢  Am ¡ a  H$ m o B ©  àíZ ¶m n ¥ð >  {~Zm N >nm h þAm ¶m ’$Q > m  h þAm ‘ w {ÐV n ¥ð >  h ¢  Am ¡ a  H$ m o B ©  àíZ ¶m n ¥ð >  {~Zm N >nm h þAm ¶m ’$Q > m  h þAm
¶m Xm o~mam Am¶m h þAm `m àíZ nwpñVH$m Ed§ CÎma n wpñVH$m _| _ w{ÐV l§ ¥Ibm _| AÝVa Vm o Zht h ¡& n wpñVH$m Ed§ g§b½Z CÎma¶m Xm o~mam Am¶m h þAm `m àíZ nwpñVH$m Ed§ CÎma n wpñVH$m _| _ w{ÐV l§ ¥Ibm _| AÝVa Vm o Zht h ¡& n wpñVH$m Ed§ g§b½Z CÎma¶m Xm o~mam Am¶m h þAm `m àíZ nwpñVH$m Ed§ CÎma n wpñVH$m _| _ w{ÐV l§ ¥Ibm _| AÝVa Vm o Zht h ¡& n wpñVH$m Ed§ g§b½Z CÎma¶m Xm o~mam Am¶m h þAm `m àíZ nwpñVH$m Ed§ CÎma n wpñVH$m _| _ w{ÐV l§ ¥Ibm _| AÝVa Vm o Zht h ¡& n wpñVH$m Ed§ g§b½Z CÎma¶m Xm o~mam Am¶m h þAm `m àíZ nwpñVH$m Ed§ CÎma n wpñVH$m _| _ w{ÐV l§ ¥Ibm _| AÝVa Vm o Zht h ¡& n wpñVH$m Ed§ g§b½Z CÎma
n w pñVH$m _ | {H$gr àH$ma H$s Ì w {Q > nmZ o na VËH$mb BgHo$ ~Xbo Bgr l§ ¥Ibm H$s X ÿgar ghr n w pñVH$m bo b|&n w pñVH$m _ | {H$gr àH$ma H$s Ì w {Q > nmZ o na VËH$mb BgHo$ ~Xbo Bgr l§ ¥Ibm H$s X ÿgar ghr n w pñVH$m bo b|&n w pñVH$m _ | {H$gr àH$ma H$s Ì w {Q > nmZ o na VËH$mb BgHo$ ~Xbo Bgr l§ ¥Ibm H$s X ÿgar ghr n w pñVH$m bo b|&n w pñVH$m _ | {H$gr àH$ma H$s Ì w {Q > nmZ o na VËH$mb BgHo$ ~Xbo Bgr l§ ¥Ibm H$s X ÿgar ghr n w pñVH$m bo b|&n w pñVH$m _ | {H$gr àH$ma H$s Ì w {Q > nmZ o na VËH$mb BgHo$ ~Xbo Bgr l§ ¥Ibm H$s X ÿgar ghr n w pñVH$m bo b|&

6. Bg n¥ð> Ho$ D$na {ZYm©[aV ñWmZ ‘| AnZm AZwH«$‘m§H$ Adí¶ {bI|& àíZ-nwpñVH$m na Am¡a Hw$N> Z {bI|&
7. àË¶oH$ àíZ Ho$ nm±M nm±M nm±M nm±M nm±M CÎma - (A), (B), (C), (D) Am¡a (E) H«$‘ na {X¶o J¶o h¢& CZ‘| go Amn g~go ghr Ho$db EH$Ho$db EH$Ho$db EH$Ho$db EH$Ho$db EH$ CÎma H$mo MwZ| Am¡a

AnZo CÎma nÌH$ na A§{H$V H$a|& AmnH$m Hw$b àmám§H$ AmnHo$ Ûmam CÎma nÌH$ ‘| A§{H$V ghr CÎmam| na {Z^©a H$aoJm&
8. CÎma nÌH$ ‘| àË¶oH$ àíZ g§»¶m Ho$ gm‘Zo nm±Mnm±Mnm±Mnm±Mnm±M d¥Îm Bg àH$ma ~Zo hþE h¢ -   A  ,   B  ,   C  ,   D  Am¡a  E   & àíZm| Ho$ CÎma XoZo Ho$ {bE AmnH$mo

AnZr ngÝX Ho$ Ho$db EH$Ho$db EH$Ho$db EH$Ho$db EH$Ho$db EH$ d¥Îm H$mo H$mbr/Zrbr ñ¶mhr Ho$ ~m°b-nm°BÝQ> noZ go {M{•V H$aZm h¡& àË¶oH$ àíZ Ho$ {bE Ho$db EH$ CÎma H$mo
MwZ| Am¡a Cgo AnZo CÎma nÌH$ ‘| {M{•V H$a|& Amn CÎma nÌH$ ‘| ¶{X EH$ àíZ Ho$ {bE EH$ go A{YH$ d¥Îm ‘| {ZemZ bJmVo h¢, Vmo AmnH$m
CÎma JbV ‘mZm Om¶oJm& CÎma nÌH$ ‘| CÎma H$m o {M{•V H$aZo Ho$ {bE Ho$db H$mbr/Zrbr ñ¶mhr Ho$ ~m °b-nm°BÝQ> noZ H$m hrCÎma nÌH$ ‘| CÎma H$m o {M{•V H$aZo Ho$ {bE Ho$db H$mbr/Zrbr ñ¶mhr Ho$ ~m °b-nm°BÝQ> noZ H$m hrCÎma nÌH$ ‘| CÎma H$m o {M{•V H$aZo Ho$ {bE Ho$db H$mbr/Zrbr ñ¶mhr Ho$ ~m °b-nm°BÝQ> noZ H$m hrCÎma nÌH$ ‘| CÎma H$m o {M{•V H$aZo Ho$ {bE Ho$db H$mbr/Zrbr ñ¶mhr Ho$ ~m °b-nm°BÝQ> noZ H$m hrCÎma nÌH$ ‘| CÎma H$m o {M{•V H$aZo Ho$ {bE Ho$db H$mbr/Zrbr ñ¶mhr Ho$ ~m °b-nm°BÝQ> noZ H$m hr
à¶m oJ H$a | &  {H $gr ^r àH$ ma  H$ m  H $ mQ >-H y $Q >  AWdm n[adV ©Z ‘mÝ¶ Zht h ¡ &à¶m oJ H$a | &  {H $gr ^r àH$ ma  H$ m  H $ mQ >-H y $Q >  AWdm n[adV ©Z ‘mÝ¶ Zht h ¡ &à¶m oJ H$a | &  {H $gr ^r àH$ ma  H$ m  H $ mQ >-H y $Q >  AWdm n[adV ©Z ‘mÝ¶ Zht h ¡ &à¶m oJ H$a | &  {H $gr ^r àH$ ma  H$ m  H $ mQ >-H y $Q >  AWdm n[adV ©Z ‘mÝ¶ Zht h ¡ &à¶m oJ H$a | &  {H $gr ^r àH$ ma  H$ m  H $ mQ >-H y $Q >  AWdm n[adV ©Z ‘mÝ¶ Zht h ¡ &

9. `{X {H$gr àíZ _| {H$gr àH$ma H$s H$moB© _wÐU `m VÏ`mË_H$ àH$ma H$s Ìw{Q> hmo, Vmo àíZm| Ho$ A§J«oOr VWm {hÝXr ê$nmÝVam| _| go A§J«oOr
ê$nmÝVa H$mo _mZH$ _mZm Om`oJm &

10. àíZ-nwpñVH$m go H$moB© nÝZm ’$m‹S>Zm ¶m AbJ H$aZm ‘Zm h¡& àíZ-nwpñVH$m Am¡a CÎma nÌH$ H$mo narjm Ad{Y ‘| narjm ^dZ go ~mha H$Xm{n
Z bo Om¶|& narjm Ho$ g‘mnZ na CÎma nÌH$ drjH$ H$mo Adí¶ gm¢n X|&narjm Ho$ g‘mnZ na CÎma nÌH$ drjH$ H$mo Adí¶ gm¢n X|&narjm Ho$ g‘mnZ na CÎma nÌH$ drjH$ H$mo Adí¶ gm¢n X|&narjm Ho$ g‘mnZ na CÎma nÌH$ drjH$ H$mo Adí¶ gm¢n X|&narjm Ho$ g‘mnZ na CÎma nÌH$ drjH$ H$mo Adí¶ gm¢n X|& CgHo$ ~mX AmnH$mo AnZr àíZ-nwpñVH$m AnZo gmW bo
OmZo H$s AZw‘{V h¡&

11. D$na Ho$ AZwXoem| ‘| go {H$gr EH$ H$m ^r nmbZ Zht H$aZo na Amn na Am¶moJ Ho$ {ddoH$mZwgma H$ma©dmB© H$s Om gH$Vr h¡ AWdm AmnH$mo XÊS>
{X¶m Om gH$Vm h¡&

12. Aä¶Wu CÎma nÌH$ H$mo AnZr CnpñW{V ‘| Self Adhesive LDPE Bag ‘| nyar Vah go n¡H$/grb H$admZo Ho$ Cnam§V hr narjm H$j
H$mo N>mo ‹S> |&

Note : English version of the instructions is printed on the First Page of this Booklet.

Cå‘rXdma H$m AZwH«$‘m§H$

48
516




